1ISO 9001/1SO 14001 Certified

Save nature & money

" Manufactured by KOREA

EM



Advanced Mechatronics Solutions

CONTENTS O

SLINIOf V1IN

PIPE RACKING SYSTEM

SLNIOf JI1SY'1d

RIFES

METAL JOINT

PLASTICJOINT

SHOVYL 43 TI0Y

ROLLER TRACKS

> Roller Track Mount Bracket

SAROSS3IJV

> Roller Track Cap

ACCESSORIES

431SvO

CASTERS

> Floor Lock

31av.L 14N

LIFT TABLE

TECHNICAL SPECIFICATIONS

TVOINHO3AL

EXAMPLES

ST1dINVYX3



COLOR CODE NUMBERING SYSTEM FOR PIPE

Double Coated Pipe
Coated ESD Pipe
Normal Coated Slide Pipe
Coated ESD Slide Pipe
Normal Coated Flat Pipe
Coated ESD Flat Pipe
Coated Black Stripe Pipe
Full Slide Pipe

L-Slide Pipe

Spiral Pipe
STS-D-Coated Pipe
STS Pipe

Eco-Pipe

ESD Eco-Pipe

Eco-Z(Zinc) Pipe

DP28]07]X

t0.5
[07] t0.7
t0.8
[09] t0.9
t1.0
(12]t1.2
t1.4

£2.0

% Example : Case of coated Pipe Ivory @28 xt1.0 is DP2810-i

Color Code

[ 1] Ivory

Green

Blue

Sky Blue
Dark Blue
Gray
Metallic Gray
Dark Gray

Black

Black Stripe ESD lvory

White

[ R | Red

[ O ] orange
Brown
Rock Gray
Yellow

[ P ] Pink

Classification

NUMBERING SYSTEM

Part No

Normal Pipe

Thickness

Weight (g)/M |

Injit : mfa

DP2807-X  EP2807-X  @28xt0.7 505

DP2809-X  EP2809-X  @28xt0.9 630

D-Coated ~ DP2810-X  EP2810-X  @28xt1.0 700

Pipe DP2814-X  EP2814-X  @28xt1.4 830

DP2820-X  EP2820-X  @28xt2.0 1,130

DP3210-X - 232xt1.0 810

Coi-treSdDF:ipe SD2805-X - 228%t0.5 395

CS2807-X  ES2807-X  @28xt0.7 582

SidePipe CS2809-X  ES2809-X  @28%t0.9 650

CS2810-X  ES2810-X  @28%t1.0 767

CS2820-X  ES2820-X  @28xt2.0 690

Coated Pipe Full FS2807-X FS2807-E @28%t0.7 505

SlidePipe  £spg09-x  Fs2809-E  ©28xt0.9 630

L-Slide LS2809-X LS2809-E @28%t0.9 690

Pipe LS2810-X LS2810-E @28%t1.0 750

CF2807-X  EF2807-X 228%t0.7 606

Flat Pipe CF2809-X EF2809-X @28xt0.9 720

CF2810-X  EF2810-X 228xt1.0 790

Black - CL2807-X  @28xt0.7 505

Stripe Pipe - CL2810-X  @28xt1.0 690

W-Pipe (RoIIeRrCCzogn?/geyor ) 228xt0.9 570

Spiral Pipe SP2809 @28xt0.9 630

G2807-X EG2807-X  ©@28xt0.7 475

G2809-X EG2809-X  @28xt1.0 600

Eco-Pipe Powder Pipe G2812-X EG2812-X @28%t1.2 800
G2820-X EG2820-X  28xt2.0 1100 .

72808 228x10.8 550

$2807-PF 228%10.7 448

STSPipe  Polished Pipe $2809-PF 928x10.9 561

S2812-PF 228xt1.2 760

% Standard Length - 4,000



Ivory

Green

Blue

Sky Blue

Dark Blue

Normal
Pipe

Gray

Rock Gray

Dark Gray

Black

White

A S YA WA

8

COLOR TABLE

Classification

Standard

Color

228
xT0.7

Eco Pipe

228 228
xT0.9 xT1.2

Standard Length : 4000

228 228 228
xT2.0 xT0.7 xT0.9

Coated Pipe

228
xT1.0

228
xT1.4

Unit : mm

228
xT2.0

Red , = - . - @ @ @ ] @
Orange / = . = - ® [ s b @
Brown / - = = = @ 2 & ] ]
Normal
Pipe
Yellow - ,;f‘g & @ ® ® @ ° e e ®
l\!f}y
Pink / g . a : @ @ @ ) e
Spiral 3 " " - < . =) . =
Ivory - - = - = = ® - >
ESD Pipe ?
Antistatic:
10°Q
~10°0
Gray t ' 2 ® ® @ @ ® ® B e
ESD Pipe Back  § / ° ® ® s ® © & ® ®
Conductivity:
10°0Q
~10°Q
Black Stripe z / ) ) = = @ = - - ®



D-COATED PIPE ECO / STS PIPE

FEATURES OF D-COAT PIPE THE ADVANTAGES OF ECO-PIPE

Powder Paint

Steel Pipe

Powder Paint

Rust Inhibitor » <Steel Pipe

(D Steel Pipei d with ABS and final d with ly developed ial by G.S.ACE fg SR %g ol
teel Pipe Is coated wit and final coated with newly developed material by G.5.ACE. ECO-pipe is fully recyclable. Wider selection of colors and textures.
@ Compared to the conventional ABS coating pipe, D-Coat Pipe is outstanding in oil resistance and chemical resistance. Powder painted steel pipe of internal and external surface i .
In particular, salinity, rust preventative oil or cutting oil does not cause cracks or discoloration of the pipe. @ Chemical resistant

Economical
20% less than coated pipe

@ with outstanding durability, this pipe is easily processed. Rustproof coating inside the pipe provides . Non-flammable
superior corrosion resistance. 35% less than ESD coated pipe /®

© This product comes in a variety of colors for use in various items or per company’s image. High resistant to oil, UV light, and corrosion.

No emission of toxic fumes in fire.

. , .
5 D-Coat Pipe i printed with ‘D-COAT G.S.ACE'. 30% less than stainless steel pipe

~Y¢- Electrolytic Corrosion Free
Free of Electrolytic Corrosion.

CHEMICAL RESISTANCE OF COATING PIPE

Chemical Test Method — Chemical Test Method D—COATReSUI,:BS Ot TH E ADVANTAG ES O F STAI N LESS PI P E

D-COAT \ ABS COAT

. . . . . . A .
Rust Preventative Oil Coating O A Transmission Oil Coating O x e EnV|r0nmenta| STS PlPE VS, COATED P|PE BEN DlNG STRENGTH
Sodium Chloride (Sweat) Coating o) x Hair Spray Coating @) O Stainless pipe which is 100% recycable Bending Strength (kgf) o -'
; . . . 160 155 157
Brake Oil Coating O X Permanent Solution Coating O O . ore 140
- , , D High Strength & Durability
UV Ray Radiation O A Pesticide Coating O O . . . 120
Surface resistant to light abrasion or contact
Cutting Oil Coating (@) X Sterilizer Coating o O with metal tools 100
Dishwashing Detergent Coating O AN Liquid Fertilizer Coating @) @) @ &
. . . . 60
Laundry Detergent Coating O O Soybean Oil Coating O X H Ig h OII & Chemlcal ReSIStance 0
. 4 High resistance to oil, solvents, bleaches, etc.
Bathroom Detergent Coating O O Bleach Coating O @) 20
0 Stainless
Methyl Ethyl Keton Deposition X x Ethanol Deposition O @) /®/ Non-Flammable STS Pipet0.9  Coated Pipe 10.9 Pipe
(Weight-581g) (Weight-630g)
Ethylene Glycol Deposition (@) @) Toluene Deposition X X Inherently non-flammable. (Pipe Length L = 900mm)
1. Test Condition - Test by depositing pipe in or coating it with the designated chemical for 30 days e
. - Conductive
2. Notes - O: No change
At Change was observed, but the pipe is still usable. Inherently conductive

X : Resin melted or crack occurred.



O METAL JOINT

Innovated Joints with
Assembly Help Lines

Newly developed and patented design for @28 stainless steel pipes.

Excellent grip characteristics achieved by introducing series of
protruded pyramids in contact with stainless steel pipes.

When used with coated pipes, grip is enhanced by 30%.

Black Coating Non Chrome
Zinc Plating (White)
Nickel Plating

Non Chrome
Powder Coating (lvory)

ADVANCED MECHATRONICS SOLUTIONS, INC

FOR @28 (S-SERIES)

COLOR:@BK OWZ @NI = PI Unit : mm

G-1S

- Weight : 0.068kg " - Weight :0.06Tkg
- Q'ty/Box : 240pcs - Q'ty/Box : 240pcs

- Weight :0.095kg - Weight :0.120kg
- Q'ty/Box : 150pcs - Q'ty/Box : 70pcs

- Weight :0.105kg \ - Weight :0.048kg
- Q'ty/Box : 180pcs - Q'ty/Box : 180pcs

\\
/& \

—
| = _.'_'___.III —L
\/ \_\ \

<L

\’\l o |t i C ‘\%0&

- Weight :0.042kg - Weight :0.046kg
- Q'ty/Box : 240pcs - Q'ty/Box : 180pcs

- Weight :0.044kg - Weight :0.052kg
- Q'ty/Box : 300pcs - Q'ty/Box : 300pcs

11







COLOR: @ BK OWZ @ NI

Pl

FOR @28 (S-SERIES)

- Weight :0.050kg
- Q'ty/Box : 240pcs

- Weight :0.060kg
- Q'ty/Box : 240pcs

Unit : mm

- Weight :0.105kg
- Q'ty/Box : 180pcs

- Weight :0.080kg
- Q'ty/Box : 240pcs

- Weight :0.075kg
- Q'ty/Box : 240pcs

- Weight :0.057kg
- Q'ty/Box : 300pcs

G-44

- Weight :0.070kg
- Q'ty/Box : 270pcs

- Weight :0.071kg
- Q'ty/Box : 200pcs

- Weight :0.099kg
- Q'ty/Box : 120pcs

- Weight :0.076kg
- Q'ty/Box : 200pcs

14

FOR @28 (S-SERIES)

COLOR: @BK OWZ @ NI = PI Unit : mm
G-65S (For @5) G-65S-10 [For @10]
. -

- Weight :0.038kg
- Q'ty/Box : 480pcs

G-66 (Material : Aluminium) G-90S

%\ Utility Model Patent &

- Weight :0.0380kg
- Q'ty/Box : 480pcs

- Weight :0.096kg
- Q'ty/Box : 100pcs

- Weight :0.042kg
- Q'ty/Box : 160pcs

- Weight :0.074kg - Weight :0.074kg
*For @28.6 - Q'ty/Box : 180pcs * For §28.6 - Q'ty/Box : 200pcs

- Weight :0.07kg
* For connection at the top of joint - Q'ty/Box : 240pc

- Weight :0.070kg
- Q'ty/Box : 240pcs

/

% q)?j‘%
- Weight :0.080kg s - Weight :0.078kg
- Q'ty/Box : 200pcs - Q'ty/Box : 200pcs

15




FOR @28 (S-SERIES)

G-110S G-135S

< 3

- Weight :0.103kg
- Q'ty/Box : 100pcs

- Weight :0.102kg
- Q'ty/Box : 100pcs

By

Z/’ 7
[ Z“’@;r;‘//\/s
~ =l

T
o T

- Weight :0.105kg - Weight :0.128kg
- Q'ty/Box : 100pcs - Q'ty/Box : 50pcs

Example for GA-15S

16

FOR @28 (S-SERIES)

COLOR: @BK OWZ @NI = PI Unit:mm

GA-1S
\\

Material Metal
G-1S 2pcs

MO0625/TN06 1set

Material Metal
G-1BS 2pcs

M0625/TN06 1set

Material Metal
G-2S Tpcs
G-3S Tpcs

MO0625/TN06 | 2set

Material
G-2S 2pcs
G-4S Tpcs

M0625/TN06 = 3set

Material Metal
G-4S 2pcs

MO0625/TN06 2set

17




COLOR: @BK OWZ @ NI~ Pl

FOR @28 (S-SERIES)

Unit:mm COLOR: @BK OWZ @NI P

GA-5S

Material
G-2S 4pcs

M0625/TN06

FOR @28 (S-SERIES)

Unit : mm

Material
G-8S 2pcs

M0625/TN06

Material

Material

G-9S 2pcs Ll

M0625/TN06

G-6S 2pcs

MO0625/TN06 1set
GA-6BS

Material Metal

G-6BS 2pcs

MO0625/TN06 1set

Material Metal @ |

G-12S 2pcs

GAP-12 Tpcs - 535 _ 30

M0625/TN06

GA-6B-33

Material Metal

G-6B-33 2pcs

M0625/TN06 1set

Material

G-13AS Tpcs

G-13BS Tpcs

MO0625/TN06 1set

Material
G-7AS 2pcs
G-7BS 2pcs

M0625/TN06 2set

18

Material Metal 3 g G785/ /
G-14S 2pcs o

G-7BS 4pcs 30 _ 346 70 345_ 30

M0625/TN06 = 4set

19




FOR @28 (S-SERIES) FOR @28 (S-SERIES)

GA-18S

GA-15S

COLOR: @ BK OWZ @ NI = Pl Unit:mm COLOR: @BK OWZ @ NI~ PI Unit :mm

N

Material Metal Material Metal
G-15AS Tpcs G-18S 2pcs
G-15BS 1pcs GAP-12 2pcs

M0610 1pcs M0625/TN06 1set

Material Metal )

G-20S Tpcs

Material Metal T : |
G-15D Tpcs i % ] ) } =
G-15BS 1pcs oz -

MO0610 Tpcs 1— f%

G-1S Tpcs

M0625/TN06 1set

Material Metal ST

G-24S 2pcs

Material Metal - 2
= o
G-15AH 1pcs

G-15BS 1pcs 028

GAP-12 Tpcs pedl, . 70

MO0610 Tpcs

MO0625/TN06 2 set

Material Metal
. - =
Material Metal gl +—— 1 i G-25AS Tpcs
' @
G-16S 2pcs _ G-25BS 1pcs
PW8x25 2pcs oz GAP-12 1pcs
M0610 Tpcs

Material Metal Material Metal
G-17S 2pcs G-25C 2pcs
GAP-12 Tpcs GAP-12 Tpcs

M0625/TN06 Iset M0825/TN08 2set

20 21




COLOR: @ BK OWZ @ NI

P

FOR @28 (S-SERIES)

Material
G-7CS
G-7BS
MO0625/TN06

Metal
2pcs
2pcs

3set

GA-27S

Utility Model Patent

COLOR: @BK OWZ @ NI~ PI

Unit : mm

FOR @28 (S-SERIES)

Unit : mm

Material
G-38S
MO0625/TN06

Material
G-28

M0625/TN06

Metal
2pcs

1set

Metal
2pcs

1set

Material
G-44
M0625/TN06

Material
G-30S

M0625/TN06

Metal

2pcs

Tset

Metal

2pcs

1set

Material
G-45S
MO0625/TN06

Material
G-34S

M0625/TN06

upper Joint

Metal
2pcs

2set

Joint for assembling with

Metal

2pcs

1set

Material
G-54S

G-4S
M0625/TN06

G-35AS
G-35BS
GAP-56

MO0610

Tpcs
Tpcs
Tpcs

Tpcs

Metal

1pcs

1pcs

2set

Material
G-22S

GAP-12

M0625/TNO6

22

Metal

4pcs

1pcs

4set

23




COLOR:@BK OWZ @NI = PI

FOR @28 (S-SERIES)

Unit : mm

GA-60S

Material

G-60S

M0625/TNO6

Metal
2pcs

1set

Material

G-65S

M0625/TNO6

Material

G-655-10

Metal

2pcs

M0625/TN06 1set

Material

G-66

Aluminum

2pcs

M0625/TNO6 1set

GA-90S

Material

G-90S

M0625/TNO6

24

FOR @28 (S-SERIES)

GA-101

COLOR: @BK OWZ @ NI = Pl
_on

Material
G-101
MO0625/TN06

Unit:mm

Material
G-102
M0625/TN06

Material Metal
G-103 2pcs
MO0625/TN06 1set

Joint for assembling with
upper Joint

Material
G-104
MO0625/TN06

Material Metal

G-105 2pcs
MO0625/TN06 1set

25




COLOR: @BK OWZ @NI =~ PI

GA-106

FOR @28 (S-SERIES)

Unit : mm

Material
G-106

M0625/TN06

O PLASTIC JOINTS

o . Z@@ﬂ]ﬂﬁ

2pcs

1set [ |

GA-110S

Material
G-110S

M0625/TNO6

Metal S
2pcs )\ 61108

2set

GA-135S

Material
G-135S

MO0625/TN06

Metal
2pcs

2set

Material
G-160S

M0625/TNO6

Metal
2pcs

2 set

COLORS

L Ivory @ Gray @ Green Esd

26

PIPE RACKING SYSTEM




COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-1

F——t :
“ i Material ASA
' o Weight 0.030kg
Q’ty/Box 150pcs

GAP-2A

Weight 0.045kg

\\\" ) Material ASA

Q’ty/Box

75pcs

Material ASA

Weight 0.048kg

Q’ty/Box 75pcs

Material ASA = +—
Weight 0.009kg | (I I
Wl )
Q'ty/Box 900pcs — Lﬁ
20
GAP-4P
GAP-4P
| 28
e 0|
TR « = Material LDPE o
- - ! ! |
e

Weight 0.003kg J— ot
o)
Q'ty/Box 1500pcs =

242

COLOR: " Ivory @ Gray @ Green @ Esd Unit i mm

GAP-4C/4S

GAP-4C/4S
927.4_
TT—— ; Material LDPE N
: !
Weight 0.003kg g* 'l_%
[=N]

Q'ty/Box 1500pcs i

9244,
GAP-4R

GAP-4R

A Material TPU

Weight 0.009%g
Q’ty/Box 900pcs
*Color : BK

Material ASA

Weight 0.032kg

Q’ty/Box 150pcs

Material ABS

Weight 0.005kg L34 _’»

Q’ty/Box 1200pcs

Material ABS

Weight 0.005kg

Q’ty/Box 1200pcs

29




COLOR: " Ivory @ Gray @ Green @ Esd

GAP-7

Unit : mm

Material
Weight

Q’ty/Box

ABS 225 7

0.011kg 65

450pcs o

Material
Weight

Q’ty/Box

oo _

0.005kg Lz.a..J f ol GAP-8

1200pcs

GAP-8FN

GAP-9C-07

Material
Weight

Q’ty/Box

ABS

0.005kg

1200pcs

Material

NYLONG6

] Weight 0.016kg
| Q'ty/Box 450pcs
GAP-9C-09
i Material NYLON66
] Weight 0.016kg
| Q’ty/Box 450pcs
* Color : BK

30

COLOR: " Ivory @ Gray @ Green @ Esd Unit i mm

GAP-9S-07

0258
Material NYLON66 p
4 Weight 0.016kg
Q'ty/Box 450pcs Is
[
GAP-10R
80 475
- - ‘ -30_1
Material ASA = ! - =4
h ) i Q\* 3 ‘ | r\\ 83~
Weight 0.042 + |7 a9 ":\1;:.—1—'. —
9 9 \\\\\-Z i\:ﬁ {-|-_.
Q’ty/Box 120pcs ~ g tr
_j - u
A L GAP-10L

GAP-10L

Material ASA

\
34 |

Weight 0.042kg
Q’ty/Box 120pcs

ABS

Material
Weight 0.005kg
Q’ty/Box 1200pcs

When moving the box, GAP-11 can I:'*'. — ‘:]_ -r_! _‘L__'_.'_
prevent from hanging Fot=H o2 ) T

Material PE

Weight 0.007kg

Q’ty/Box 600pcs
*Color : White

31



COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-13

Material ABS

- Weight 0.05%g

‘)_:/ : ( i~ Q’ty/Box 75pcs

Material

. (— F
Weight 0.075kg e
B
Q'ty/Box 75pcs 8

ABS

Material

Weight 0.003kg

Q’ty/Box 1500pcs

Material ASA
Weight 0.018kg

Q’ty/Box 300pcs

Material ABS
Weight 0.014kg
Q’ty/Box 400pcs

32

COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-18A

Material ASA I'e
LY - |
Wei u| ——"'—4 r-: ol |
eight 0.023kg N 8! |
Q’ty/Box 240pcs _2‘3_: _ L+ i GAP-18A
el | 2 |
Lt N
L.

GAP-18B

- Material ASA

Weight 0.022kg

Q’ty/Box 240pcs 1|l 4 b GAP-18B

Material ASA
Weight 0.009%g
Q’ty/Box 750pcs

Material ABS
Weight 0.006kg
Q'ty/Box 1200pcs

GAP-23

Include Bolt&Nut

Material ABS 34 12,
o i L4
Weight 0.020kg RA ] e I
'\\\ i o >
Q'ty/Box 1500pcs N | ) |
!:;.‘d;{_‘ _} T \ = A -
Bolt : M3x20 | 4
Nut: M3 Lﬂ_

33




COLOR:  Ivory @ Gray @ Green @ Esd Unit i mm

GAP-24A

S

COLOR:  Ivory @ Gray @ Green @ Esd Unit : mm

GAP-26B

Material ASA
Weight 0.054kg
Q’ty/Box 75pcs

\__ i Material ABS i |
> Weight 0.060kg \\ 1 S
: Q’ty/Box 75pcs ‘:T/' 2 !
& P} : wLI&J“ﬁcJ

GAP-24B

-

Material

Weight

Q’ty/Box

ABS
0.057kg

75pcs

Material

Weight

Q’ty/Box

ABS
0.075kg

45pcs

i

-----

. 1§D .. M.

GAP-25B

../3{4_./_ 5§
=

Material ASA |

Weight 0.072kg

Q’ty/Box 45pcs

GAP-26A

t }

ASA J
Weight 0.055kg g;_r__'._:ﬁ.'.';;[_ T2
0= I NS
Q'ty/Box 75pcs %’é [ 4/_ﬁ[}’/
Tl

34

N

Material
Weight
Q’ty/Box

ASA

0.035kg
150pcs

GAP-27B

Material

Weight
Q’ty/Box

ASA

0.033kg

150pcs

Material
Weight
Q’ty/Box

ASA
0.046kg

90pcs

Material
Weight
Q’ty/Box

ASA
0.044kg

90pcs




COLOR:  Ivory @ Gray @ Green @ Esd Unit i mm COLOR:  Ivory @ Gray @ Green @ Esd Unit : mm

GAP-34

GAP-29A

4 N GAP-34
Material ASA i ; A ' Material ASA
Weight 0.045kg L 4 Weight 0.014kg
Q'ty/Box 90pcs § " 6 Q'ty/Box 500pcs

GAP-29B

GAP-35

Material NYLON6G6

f
Material ASA r i
|

Weight 0.043kg /

|
L 5 Weight 0.015kg
T - E

=67

Q’ty/Box 300pcs

GAP-30A

s Al e o GAP-30A

Material ABS

Material ASA L |l

Weight 0.011kg

Weight 0.026kg —

Q’ty/Box 600pcs

Q’ty/Box 210pcs m

GAP-30B

GAP-30B

Material ABS

Material ASA 2 %‘ ¥
il

Weight 0.025kg e Weight 0.019g

Q’ty/Box 300pcs

Q'ty/Box 210pcs 7N C

Material ASA Material PP
. o e ‘lf—l—}
K Weight 0.020kg | 1 | vl s Weight 0.047kg
| |
Q'ty/Box 210pcs T | """ 2 |: 215__1 % : GAP-3] Q'ty/Box 120pcs
| 24 a4
e by =t




COLOR: " Ivory @ Gray @ Green @ Esd Unit i mm

GAP-40

GAP-40
S e S
Material NYLONG6
Ly
Weight 0.034kg
Q’ty/Box 150pcs ¢
40.5 39

o
7 TN
Material ASA ll%_ oy
Ny
Weight 0.030kg '[
Q’ty/Box 150pcs N
'*-x—i—.-/fjf"
[
Lea | —

Material ASA
Weight 0.045kg
Q’ty/Box 90pcs

Material NYLON6 GAP-43
Weight 0.028kg
Q’ty/Box 150pcs

Material PE L3583 " 6
L 3 L14 51
Weight 0.012kg ( n rT
/;.'- = T - — ¥
Q’ty/Box 200pcs il v, I o O I
: X e
* Color : White eﬁ’f ‘-_Jf._-_/ l I gy N °

38

COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-45A
Material ASA -7

Weight 0.060kg

GAP-45A

Q’ty/Box 75pcs

N

Material ASA

Weight 0.060kg

Q’ty/Box 75pcs

Material ABS
Weight 0.013kg
Q’ty/Box 450pcs

Material ABS o if A
\/ . =
Weight 0.030kg ( | )8y

Q'ty/Box 180pcs 33 34 &g:/

P32

)
GAP-53

Material ASA
Weight 0.014k o

9 9 | 3 3
Q’ty/Box 450pcs

\ /| 4
&

39




COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-48

Material ASA

Weight 0.013kg

Q’ty/Box 500pcs

Material ASA

Weight 0.017kg

Q’ty/Box 400pcs

Material POM

Weight 0.008kg U |

Q’ty/Box 1200pcs a1

Material POM .

) s . 0
Weight 0.007kg A% & @Q} FE
Q’ty/Box 1200pcs

7.7 12.5 |8
30.2 |16 |

GAP-52A

.
Material ABS /] o GAP-52A
/\:I 8
Weight 0.013k |
g g Y
Q'ty/Box 1500pcs 2.5

40

COLOR: " Ivory @ Gray @ Green @ Esd Unit: mm
GAP-54

© == GAP-54

Material ASA

Weight 0.025kg @
I |3[g

Q’ty/Box 150pcs &3
g EIEE:

G

Material ABS

Weight 0.009kg

Q’ty/Box 750pcs

Material PE
Weight 0.010kg
Q’ty/Box 300pcs

PVC

Material
Weight 0.008kg
Q'ty/Box 450pcs

GAP-61
Material ABS
a:\ Weight 0.015kg
Q'ty/Box 400pcs ®

41




COLOR: " Ivory @ Gray @ Green @ Esd Unit : mm

GAP-64

S
-y / Material ASA
- \ Weight 0.165kg
= i A\ Q'ty/Box 38pcs
GAP-65
4 Material ABS
“ @ Weight 0.015kg
4‘\ g
e Q'ty/B 400
— o HS ty/Box pcs
<8

Material ABS
Weight 0.022kg
Q’ty/Box 200pcs
\ -
GAP-71
\ g Y T
W\ R
_ LN Material ASA ® GP-25 Series, GP-35 Series, GP-40 Series, GP-60 Series, GP-70 Series, GP-85 Series, GP-100 Series, Mounting Bracket
. s
P ' Weight 0.02%g i 1" Omls
P 4 2 % + \‘N [
\ _ Q'ty/Box 150pcs j \iul?_ 1 GAP-71 I
L
- 50
- GP 4036 A
GAP-72

\I‘.

TG

A:ROUND M: MULTI

B: FLAT BF: FLEXIBLE
C: FLANGE S:SLIM

SR: STS COVERED ROLLER

(

Weight 0.014kg 4

N Material ASA ~€§
(

i~
» Q'ty/Box 300pcs | | s 'J D: LARGE
\ After fixing GAP-71 into Pipe, LT HA: TAPER
disassembling GAP-72 and rotating, L ) J '
it could be fixed 90 degree 234

B WH: White @  GR: GRAY BK: BLACK YL: YELLOW @

42 PIPE RACKING SYSTEM




GI-BODY SILENT ROLLER TRACK Unit : mm

SPECIFICATION
< w0

Unit : mm
Body Load Roller Shaft Roller Roller Color Standard «
Series Part No. Material | Capacity | Diameter | Diameter | Pitch Lenath Body : Gl ,
(mm) (Kg-f) (mm) (mm) (mm) 9 Material :
Roller : PE p=1 0
| =+
Silent Roller Track Q'ty/Bundle = 10ea . b {1
oo GPR2528A AL 60 325 @3 28.57 1.5° 0 O 3MT/4MT - {
GPR4040A o o o o P4
GPR4040B o 40 O O O : -
40 Series GI/AL 150 g4 2.0° - - 3MT/AMT
8 GPR4055C 249 55 @) ) O GPR4055C-Gl 8
= GPR4040SR 934 40 0 g 4 =
o GPR60165S 100 @15 @4 16.67 O 0 0 o %
§ GUREUESY  GPR6033B GI/AL 150 230 4 33.33 2.5° O O O 3MT/AMT /y . Body : Gl §
Q GPR6033HA 150 @30 24 33.33 o . j Rl . @)
7 Roller : PE a
GPR7042B 0 O -~ 7 : 7
70 Series Rz NS 200 o o5 “ - o IMT/AMT ” Q'ty/Bundle | 10ca 2l
P~
GPR7021BFS-2 217.6 21 - O o
GPR85235 200 320.5 22.5 0 O 0
: GPR8545B 0 0 0 ANIT
85 Series GI/AL @40 @3.5 1.5°
GPR8545HA 300 45 : O 0
GPR8545SR 243 0 2MT
(O)Sedl  GPR1021BFS AL 250 217.6 a5 21 - o 2MT/3MT
Body : Gl |
Standard Roller Track Material FJ I
Roller : STS+PE | N
35 Series GP3533B Gl 100 328 23 33.33 2.5° olololo]l o 3MT/4MT —1—~—+——t"—|— g -
GP4036A 0 0 o Gplisle 0k 3 e l 3
=
GP40368B 3 O 0 O o
34
GP4040A 7 o O O O
40
IS GP4040B Gl 150 2.0° O o O 3MT/aMT
GP4050C @49 o 0 o
GP4050D 243 20 O O o
GP4025M @34 233 25 O O o}
GP6016S 100 @15 16.67 O O O Body : Gl
60 Series GP6033B Gl a4 )50 O o 0 3MT/AMT Material .
150 230 33.33 : Roller - PE
GP6033HA O
"ty/Bundle = 10
O GP7050BF Gl 200 234 25 50 35° o0 3MT/4MT BivEancel Bltc
GP8525M 234 25 O 0 o
@5 250 3MT/4MT
85 Series GP8543B G| 300 @40 43 O o
GP8550SR 243 235 50 1.5° o OMT
GPR6033B-Gl
Curve Roller y
CRA0A O 0 o
1 @34 © M ) )
40 Series CR40B PE 100 a4 76 2.0 @) (@) @) = Body : Aluminum
CR40D 743 o 0 O Material

Roller : PE

243

Universal Roller Track Q'ty/Bundle = 6ea

UR4050 N 100 243 o4 50 25 0 0 3MT
UR6067 200 360 25 66.7 3.0° O o 2MT




SOV L YITION

Unit : mm

GPR8523S-GlI

Body : Gl
Material
Roller : PE I
8lg
) o
Q'ty/Bundle = 4ea )

GPR8545B-Gl

Body : Gl

Material
Roller : PE

Q’ty/Bundle | 4ea

85
Body : Gl S.T
Material |
Roller : PE H 2w
8la S|¥
Q'ty/Bundle = 4ea S !

CHOICE FOR THE ROLLER TYPE

’ FLAT TYPE

N
A

% Old box with the bent bottom will not be rolled over B Type % Old box with the bent bottom will be well-rolled over HA Type

AL-BODY SILENT ROLLER TRACK Unit : mm

GPR2528A-AL

Body : Aluminum
Material

Roller : PE

Q’'ty/Bundle = 10ea

Body : Aluminum
Material

Roller : PE

Q’ty/Bundle | 10ea

Body : Aluminum

Material

Roller : PE

4

Q’'ty/Bundle = 10ea

34.9
27.6
]

UR4050-AL

Body : Aluminum

Material
Roller : Acetal

Q’ty/Bundle = 6ea

Body : Aluminum

Material

Roller : PE

185, 35

Q’ty/Bundle = 6ea

5.5
4
12.5

47

SHOVYL 43 T10d




¢

Unit: mm Unit : mm
GPR6033B-AL GPR8523S-AL
86
— &7

Body : Aluminum
Material g
Roller : PE [

Body : Aluminum

Material

Roller : PE

Qty/Bundle = 6ea Q'ty/Bundle = 4ea :

55 185 11

Body : Aluminum Body : Aluminum

Material Material

SOV L YITION
SUOVYL 43TI0Y

Roller : Acetal Roller : PE

Q'ty/Bundle = 4ea Q'ty/Bundle = 4ea

224 206 23

Body : Aluminum
Material S—
Roller : PE i

Body : Aluminum
Material

Roller : PE

31
26

Q’ty/Bundle = 6ea 1 Qty/Bundle = 4ea

L [AFame |

GPR7042BF-AL

GPR8545SR-AL

/.

73

55
Body : Aluminum

Material S — i .ll"”"”l"”||||||||||||"L-— ;;TQI
: e AT H ©
Q’ty/Bundle | 6ea 1 l " | | ||_||_I[L| : |

T
—r
1

Body : Aluminum
Material

Roller : STS+ PE

Q'ty/Bundle = 4ea

GPR7021BFS-2-AL

D ~

GPR1021BFS-AL

-
" 85
i S
) Body : Aluminum i Body : Aluminum
Material = I | R g . Material
Roller : Urethane £ gy . Roller : Urethane
od |
P R Al J s S—— ]
Q'ty/Bundle = 6ea _ Q'ty/Bundle | 4ea

Al Fi
| Al Frame |

48 49




STANDARD ROLLER TRACK Unit: mm Unit : mm

GP-3533B GP-4050C

<« 37 [ 25
. 2 =
. 3 Vateril Body : Gl 25.| F__.s” P=33 _~| ._- ¥ . . o —— a’i{ I.— ’ _._25_;’1_P59__ ]
L e T i " e IR TNV Vo Ao\

i .
—B-+ _la_gég L
41?__}_5_&‘_4 l |> 6 ©o ©o © © ©o o 6 o

=3

Roller : PE aal
|

Q’ty/Bundle = 10ea 8

|

Q'ty/Bundle = 10ea Q

Roller : PE '} : ‘

Body : Gl

Material - | | J A A AT\ AT

Q'ty/Bundle = 10ea

Body : Gl =5 P50

! Po)
(@] (@]
- -
- [
m m
< o)
§ §
(@] (@]
P A
(%} n

Roller : PE 3—[_

Q'ty/Bundle | 10ea g{‘%’ I, | |

35
27.5

o

o|

o
B

10
Body : Gl | Body : Gl —
Material AN AN Y ff\ Material ps
Roller : PE Bl 8 3 - - Roller : PE 3 ~
w3 = # T L uwy :rl‘
Q'ty/Bundle = 10ea = g Q'ty/Bundle = 10ea & © o o o o

40

25 20 P40 45 84 P=16.7
Body : Gl 1] | | __I_ B N ) Body : Gl o [ i i | o
Material 3 [ [ LA AN AN AN Material | - i .
Roller : PE + 0 Roller : PE {— | = i
3 X ' i i A N
Q’ty/Bundle = 10ea 3 kig | J 5 65 5 Qty/Bundle = 10ea ai_ L | 15 : e S ——
iy k - Ul
S o

25 20 _ P=40
' Body : Gl W ﬂ | |
i o ' D AT A AN

Roller : PE | 3+ H-3
Q'ty/Bundle = 10ea EQL |
ps o D mh OB o

16.7.. P=33.
Body : Gl [,_45___| 6.7 _P=333_

Material

Roller : PE :';_.__ e b g fﬁ?’\ fﬁ_?\ fﬁ_?\ ﬁ_?\
Q’ty/Bundle = 10ea ai}j?’s*,_‘__‘—/ 4| o © 0o o o & © 1

44.5

D)
(=]
2,

50 51




o
(]
=
=
m
o)
2
(@)
P
(%)

Unit : mm

GP6033HA

Body : Gl
Material
Roller : PE

Q'ty/Bundle = 6ea

13

24 9.

]
|
E3
[

30
35

72
Body : Gl 55 25 P=50
Material [ :
Roller : TPU k . _@m V. .
: T U
Q’ty/Bundle = 6ea Sgr l — ; = q'
GP8543B
215, P=43
_ Body : Gl [ 1 . )
Material o VAVA Y AVA W AVAWAVAY

Q'ty/Bundle = 4ea

Unit : mm

DR-40R

Utility Model Patent -

Roller Maximum Box Brake Weight Per Slope
Material Body : TPU Qty 0=1.5° | 9=2.0° | 9=2.5° | 6=3.0° | 9=3.5°
Weight 0.035kg 1set(2ea) 32Kg | 25Kg 6Kg 4Kg 2.5Kg | Roller Load
Q’ty/Box 120pcs 2set(4ea) - 32Kg 12Kg 9Kg 5Kg =1.4Kgf/ea

Material

Q’ty/Box

S ‘Q CR40A

CR40B

PE r

100pcs e l

Roller A (Round) L A
—

Roller B (Flat)

Material

Q’'ty/Box

PE

100pcs

85
Body : Gl 67.8 25 P=25
Material
Roller : P . NASANESAN
IP! _ -ég T— I________l____l — 1
s w[e . -
Q'ty/Bundle | 4ea g]i ! ] — =
T
GP8550SR
STS Cover Iz
85
Body : Gl 87 —_0 . 8
Material
Roller : STS+PE N ‘e
' % © g2
Qty/Bundle = 4ea gl.a = . i
PE Roller | N ) o o 0] 0 0 |0 0 0

CC(Gi) Body.

52

SRRV
i T
d : o
" 11 Material Steel H H §
34 X ._@?.{ l".ﬁ r"‘,_L“.\' 1o
Weight 0.055kg 0
O | 8
Q'ty/Box 200pcs g °/J | U
L o2s ll2s
B T L6 |

Material

Weight

\ : : Q’ty/Box

38
1
( = 7
PE e e
0.031kg -
2 8
150pcs e

53

SHOVYL 43 T10d



Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (25 Series) Unit : mm

Material PE Material Steel

Weight 0.022kg

Weight 0.082kg

\- Q'ty/Box 210pcs Q'ty/Box 90pcs

Material PE

Material Steel

SIOVYL Y3TION

Weight 0.012kg

Weight 0.096kg

27.5

Q’ty/Box 450pcs Q’ty/Box 60pcs

47.5

e
e~

Material Aluminum Material Steel

Weight 0.046kg Weight 0.057kg

44,2
17.7, 26.5

Q'ty/Box 200pcs Q'ty/Box 120pcs

-
|

Material Aluminum 685 7.5] f
Weight 0.078kg = | 7an
~ 1 E}."
Q'ty/Box 40pcs B = B al |l TAVEE.
% i =T

(Loading) (Stopping Backflow)

55

SHOVYL 43 T10d




o
(]
=
=
m
o)
2
(@]
A
(%)

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (35 Series) Unit : mm Unit - mm

GP-A35

Material

Steel B2l i 1) P Material | Steel
Weight 0.111kg ' L Ny _ Weight 0.130kg
Q'ty/Box 80pcs B S \ _ : o Q'ty/Box 70pcs

Material

Steel B == ) _ - ; Material Steel

Weight 0.132kg . )& . - Weight 0.064kg

Q'ty/Box 60pcs & I g 5 _- : ‘2 Q'ty/Box 120pcs

GP-B35-1

Material Steel - d : Material Steel

Weight 0.240kg ~ 2 p . b zalF Weight 0.117kg

Q'ty/Box 70pcs ; % > e Q'ty/Box 60pcs

GP-B35-33

GP-B35-33

Material Steel

Material Steel

Weight 0.132kg

Q'ty/Box 60pcs Weight 0.175kg

Q’ty/Box 36pcs

Bracket for assembling with upper
Joint.

Material Steel

Material Steel

Weight 0.148kg

Weight 0.210kg
Q’ty/Box 60pcs

Q’ty/Box 30pcs

56 57

SHOVYL 43 T10d




o
(]
=
=
m
o)
2
(@)
P
(%)

Surface Treatment-WZ

Unit : mm
GP-VA35
Material Steel
Weight 0.190kg

Q’ty/Box 45pcs

The Roller track angle can be
changed

58

Surface Treatment-WZ

ROLLER TRACK MOUNTING BRKT (40 Series) Unit : mm

< =

Material Steel

Weight 0.141kg

Q’ty/Box 80pcs

Material Steel

Weight 0.142kg

Q’ty/Box 60pcs

Material Steel
Weight 0.124kg
Q’ty/Box 80pcs

Bracket for 30X30 profile

Material Steel
Weight 0.157kg

Q’ty/Box 60pcs

3 el P | E '\\ GPE3d o
Material Steel =2
2 Weight 0.173kg =t
i/ ' [a7e ?a.l
. Q’ty/Box 50pcs el el

59

SHOVYL 43 T10d




Surface Treatment-WZ Surface Treatment-WZ

Unit : mm Unit : mm

Material Steel

Material Steel

Weight 0.174kg Weight 0.232kg

Q’ty/Box 50pcs Q’ty/Box 36pcs

D£.D

GP-B-1-33

Material Steel

Material Steel

SIOVYL Y3TION
SHOVYL 43 T10d

Weight 0.174kg

Weight 0.194kg

Q'ty/Box 40pcs Q'ty/Box

50pcs

GP-DF-40  _

Material Steel 3 § ! Z g '

Material Steel | | I 4 :

X Weight 0.220kg
Weight 0.121kg 0000) 2
120 Q’ty/Box 30pcs © ﬁg)ﬂ%' i
Qty/Box | 80pcs B i = | ot %
\:.\:ﬁ_&:-'@&a_m_a_»suns:i Bracket for 40X40 profile. " &

Material Steel

Material Steel

Weight 0.194kg

Weight 0.170kg B I

Q'ty/Box 40pcs Q'ty/Box 50pcs

B e G )
. e s e 0

Material Steel - =

Material Steel

Weight 0.170kg Weight 0.160kg

Q’ty/Box 32pcs

Q’ty/Box 70pcs

61



Pe)
(©)
-
-
m
o)
2
(@]
A
(%]

Surface Treatment-WZ

Unit : mm
GP-DN33
" TE—— GP-DN33
! ), Material Steel
. Weight 0.165kg

Q’ty/Box 70pcs

735

Bracket for assembling upper Joint

Material Steel
' <
Weight 0.07%g

Q’ty/Box 100pcs

Material Steel

Weight 0.085kg

Q’ty/Box 100pcs

Steel

Weight 0.217kg

Q’ty/Box 20pcs

Material Steel

Weight 0.175kg

Q’ty/Box 50pcs

62

Surface Treatment-WZ

Unit : mm

GP-F-33

Material Steel

i

Weight 0.190kg I_J

Q’ty/Box 36pcs

4.6

Bracket for assembling upper Joint

ﬁéjf
il

Material Steel

Weight 0.200kg U]]_’

46

7 50
Q'ty/Box pcs mu T N %
= sl —
Bracket for 40X40 profile 40€ 20
40 53.3

=4
< Material Steel

Weight 0.200kg

>

Q’ty/Box 42pcs

Installation location could be
changed by using Bolt easily.

Material Steel

Weight 0.205kg

Q’ty/Box 40pcs

Material Steel

Weight 0.220kg

Q’ty/Box 30pcs

63

SHOVYL 43 T10d




Surface Treatment-WZ Surface Treatment-WZ

Material Steel Material Steel

Weight 0.230kg Weight 0.144kg

Q’ty/Box 24pcs Q’ty/Box 60pcs

Material Steel

Material Steel

Weight 0.150kg

SIOVYL Y3TION

Weight 0.27%g

Q’ty/Box 60pcs

Q’ty/Box 30pcs

Bracket for assembling upper Joint

Material Steel

Material Steel

Weight 0.215kg

Weight 0.144kg

Q’ty/Box 24pcs Q’ty/Box 70pcs

GP-LW-33

Material Steel

Material Steel

Weight 0.200kg

Weight 0.150kg

Qty/Box 20pcs Q'ty/Box 70pcs

Upper side of 40 series roller and
slide pipe side is same.

Bracket for assembling upper Joint

Material Steel
P . Material Steel
Weight -
" Weight 0.180kg mia
Q’ty/Box - ‘T ﬂ‘g AR
. . Q’ty/Box 50pcs g*:! (\

Bracket for recline by using Slide ..‘ | | =y
pipe into Roller

65

SHOVYL 43 T10d




Surface Treatment-WZ

Unit : mm

Material

Weight

Q’ty/Box

[
ol N Borork |
%-ﬁfﬁ‘_f}_ i) i i}@ﬁ%’%—-ro—\

Steel

0.239%g

40pcs .. 1075

/J. W 'ﬁf\ A

L =)
T

Material

SIOVYL Y3TION

Weight

Q’ty/Box

44

Steel ||

0.100kg P

ped
80pcs < | *

Material

Weight

Q’ty/Box

Steel
0.129g

60pcs

Material

Weight

Steel

0.107kg

Material

Weight

Q’ty/Box

Steel
0.131kg

60pcs

Material

Weight

Q’ty/Box

Steel
0.096kg
180pcs

Material
Weight

Q’ty/Box

Steel
0.173kg

40pcs

Material

Weight

Q’ty/Box

Bracket for Gas spring

70pcs

Material
Weight

Q’ty/Box

Roller Track angle can be changed

Steel
0.220kg

35pcs

Q’'ty/Box

Steel

0.096kg
140pcs

SHOVYL 43 T10d




-A60-33
| « F
-f ?

SIOVYL Y3TION

Insert GAP-08 for preventing

- f_‘;“ Material

Bracket for 40X40 profile

Surface Treatment-WZ Surface Treatment-WZ

GP-B60-33

Insert GAP-08 for preventing

SHOVYL 43 T10d

GP-D60-33

) " Insert GAP-08 for preventing

82.6




o
o
=
=
m
o)
2
(@)
A
(%)

Surface Treatment-WZ

Unit : mm
Y g 1
Material Steel I == _J- =y
L
Weight 0.095kg
33
Q’ty/Box 100pcs g = ]
v/ P [H-ARSDAD,
e
o
|

GP-E60-33

. £y
" - — __‘E,iz
Material Steel ! =
b H
Weight 0.095kg l_. e 1
Q’ty/Box 80pcs
-
Insert GAP-08 for preventing QM
shaking gg“-—:—?-f-m

Material Steel
Weight 0.158kg

Q’ty/Box 20pcs

& :
1 ¢ Material Steel \"|" 1 [ ‘._l.. f\
. /f/ . A | I N, )|
oty / Weight 0.175kg -

Q’ty/Box 50pcs o5 25
P

When using 40 series, like to use
GP-60, IF USE GP-EH60, can be
used same Roller Height

GP-FC60

T

Material Steel
Weight 0.168kg
Q’ty/Box 50pcs

The installation location can be
changed easily by using screw.

70

Material
Weight

Q’ty/Box

Steel
0.254kg

35pcs

Surface Treatment-WZ

Unit : mm

s S =

GP-HN60
<
. ]

o
=
|

Lt

1

Material

Weight

Q’ty/Box

-

0.187kg

30pcs

GP-L60W-33
|

-
-
:’J € Material
3

Weight

Q’ty/Box

. shaking

Steel
0.187kg

30pcs

Insert GAP-08 for preventing

Material

Weight

Q’'ty/Box

Steel
0.187kg

30pcs

s

Material
Weight

Q’ty/Box

Steel
0.220kg

40pcs

71

SHOVYL 43 T10d




Surface Treatment-WZ Surface Treatment-WZ

Unit - mm ROLLER TRACK MOUNTING BRKT (70 Series) Unit : mm

Material Steel | =

Material Steel

Weight 0.280kg |

Q’ty/Box 30pcs e

Weight 0.204kg

Q’ty/Box 50pcs

GP-A70-33

Material Steel GP-A70-33

77

Weight 0.204kg

SIOVYL Y3TION
SHOVYL 43 T10d

Q’ty/Box 40pcs

358.4

Insert GAP-08 for preventing
shaking 33

Material Steel
Weight 0.280kg

Q’ty/Box 30pcs

< Material Steel

o
Weight 0.280kg
Q’ty/Box 20pcs

Insert GAP-08 for preventing

shaking 33
! 68

41.3 305
f

EESEEE
Material Szl o A O

Weight 0.180kg
Q’ty/Box 36pcs

196

73




SYOVYL YITION

Surface Treatment-WZ

Unit: mm

0
(I O I

77

Material Steel

Weight 0.170kg
Q’ty/Box 60pcs

Material Steel
Weight 0.170kg

Q’ty/Box 50pcs

Insert GAP-08 for preventing
shaking

Material Steel
Weight 0.265kg
Q’ty/Box 24pcs

Material Steel

Weight 0.209%g

Q’ty/Box 60pcs ]: LD D,

Material Steel

GP-L70-33

Weight 0.209%g

Q'ty/Box 50pcs itiil
i A

Insert GAP-08 for preventing

shaking lﬁj

{1
B

@fg

74

Material Steel

Weight 0.330kg

Q’ty/Box 20pcs

Surface Treatment-WZ

Unit : mm

[Prevention from dropping due to the Box pushing]

[Easily insert box]

75

SHOVYL 43 T10d




el
(®)
=
=
m
o)
2
(@]
P
(%)

ROLLER TRACK MOUNTING BRKT (85 Series)

Material Steel
Weight 0.205kg
Q’ty/Box 40pcs

Surface Treatment-WZ
Unit : mm

-

GP-A85-33
o et

Ty
4 Material Steel i

8 il
Weight 0.205kg ||
Q’ty/Box 40pcs o

A

n (376 50 |

Insert GAP-08 for preventing vf}——mm &
shaking :’jlﬁ, W ——-

Material
Weight

Q’ty/Box

Insert GAP-08 for preventing

shaking

Steel
0.318kg

20pcs

Surface Treatment-WZ
Unit : mm

GP-B85-1-33

GP-B85-1-33

Material Steel
Weight 0.253kg

Q’ty/Box 40pcs

GP-AN85

Material
Weight

Q’ty/Box

Insert GAP-08 for preventing

shaking

Steel
0.300kg

20pcs

GP-B85-2

Material
Weight

Q’ty/Box

Steel
0.300kg

20pcs

The Roller and Bracket height is
same

Material Steel 1 Il

Weight 0.300kg ReR

Q’ty/Box 30pcs 338__50

GP-B85-1
K ; B ==
A 3
; ( Material Steel L
X N L —
Weight 0.318kg L
A
Q’ty/Box 20pcs ]
28|
2.6

76

Material Steel

Weight 0.243kg

Q’ty/Box 20pcs

Material Steel
Weight 0.140kg

Q’ty/Box 70pcs

77

SIOVYL 43 TI0Y




Surface Treatment-WZ Surface Treatment-WZ

Unit : mm Unit : mm

GP-L85W-33

Material

Steel

Material Steel

Weight 0.265kg

Weight 0.235kg

Q’ty/Box 24ps

525
Q’ty/Box 30pcs 3 m_
Inser_t GAP-08 for preventing : gr E.?:;zr
shaking 8
L8

Material Steel Material

Steel

SHOVYL 43 TION

Weight 0.124kg

Weight 0.410kg

Q'ty/Box 80pcs Q'ty/Box 20pcs

G

<

Material Steel Material Steel

Weight 0.124kg Weight 0.442kg

Q'ty/Box 60pcs Q'ty/Box 20pcs

738

Insert GAP-08 for preventing
shaking

Insert GAP-08 for preventing
shaking

GP-M85-33

Material Steel

Weight 0.414kg

Q’ty/Box 12pcs

Material Steel

Weight 0.264kg

Q’ty/Box 24pcs

9

o B16
49254 375 138

78 79

P
(®)
=
=
m
)
2
(@]
A
(7]




ROLLER TRACK CAP

Material ABS
Weight 0.002kg
Q’ty/Box 1,500pcs

Recycle Roller 25 series for
AL Body

Unit : mm

PRC-25A

Material ABS

Weight 0.004kg

SHOVYL Y3TION

Q’ty/Box 1,000pcs

Roller Track 35 Series for
normal type

35

Material ABS

Weight 0.005kg

Q’ty/Box 1,000pcs

Roller Track 40 Series for
normal type

35

PRC-40A

Material ABS
Weight 0.005kg
Q’ty/Box 1,000pcs

Recycle Roller 40 Series for
AL Body

40

PRC-40A

PRC-40G

Unit : mm

Material ABS

Weight 0.006kg

Q’ty/Box 600pcs 80

Roller Track 60 Series for Gl Body

PRC-60A

Material ABS

43

Weight 0.006kg Tj ET
Q’ty/Box 600pcs

60 3

Universal Roller UR-6067 type

PRC-60B

Material ABS

Weight 0.006kg

24

Q’ty/Box 600pcs

Recycle Roller 60 Series for 12
AL Body

Material ABS

Weight 0.006kg

24

Q’ty/Box 600pcs

'3
60 —%?

Recycle Roller 60 Series for

Gl Body PRC-60G

Material ABS
Weight 0.005kg
Q’ty/Box 1,000pcs

Recycle Roller 40 Series for
Gl Body

35

7.2

80

- " . Material ABS
. A weish 0.008kg 5
Q’ty/Box 600pcs s
S Recycle Roller 70 Series for 72 10 .

AL Body

81

SOHOVYL 43 TION




PRC-85A

Material ABS
0
Weight 0.010kg 3

Q'ty/Box 400pcs ‘

85 3 [
Recycle Roller 85 Series ' ' 11

for AL Body

SIOVYL Y3TION

Material ABS

q [+] Ls]
Weight 0.010kg - E
o

Q'ty/Box 400pcs 3 |

Recycle Roller 85 Series for

Material ABS

Weight 0.011kg } ;{ al

Q'ty/Box 400pcs | 100 3 |

Recycle Roller 100 Series for

AL Body

PRC-100A

ACCESSORIES

MOUNTING BRACKETS

(SLIDE PIPE SERIES)

OTHERS

NAME-PLATE

LABEL CASE

PLASTIC GUIDE

AL BOX GUIDE

PLASTIC CHANNEL LEVELING FEET
THREADED INSERT & INNER CAP FASTENERS

PIPE RACKING SYSTEM




SLIDE PIPE MOUNTING BRACKET SLIDE PIPE MOUNTING BRACKET

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ

GS-AN GS-B-1-33

Material Steel

GS-B-1-33

Material Steel

Weight 0.106kg Weight 0.116kg

Q'ty/Box 100pcs Q'ty/Box 50pcs

Material Steel Material Steel

Weight 0.106kg Weight 0.085kg

Q'ty/Box 80pcs Q'ty/Box 80pcs

P
a8
m
(9]
(7]
o
=
m
(%]

S3OSS3I20V

Steel Material Steel

Weight 0.130kg -
Q’ty/Box 70pcs

Material

Weight 0.116kg

Q’ty/Box 80pcs

30121
|.

Material

Material

Weight 0.130kg Weight 0.160kg

Q’ty/Box 70pcs Q'ty/Box 80pcs

Material Steel Material Steel

Weight 0.116kg Weight 0.155kg

Q’ty/Box 70pcs Q’ty/Box 50pcs




=
a
m
(9]
7]
(©]
=
m
(%]

-

—

* Surface Treatment - WZ

Material
Weight

Q’ty/Box

Steel
0.073kg
150pcs

'- Al SLIDE PIPE MOUNTING BRACKET

GS-11 [Adjustable Slide Pipe Union]

Material

Weight

Q’ty/Box

Steel
0.160kg

30pcs

* Surface Treatment - WZ

CM-100 [Caster Mount Strap]

OTHER

Material
Weight
Q’ty/Box

Steel
0.102kg
150pcs

115
o6 % 4 —‘
N

Hex Bolt M8x45
Plain Washer M8

Hex Bolt M8x45

Material

Weight
Q’ty/Box

Steel
0.107kg
120pcs

Plain Washer M8

Hex Bolt M8x50

S3OSSIDV

Plain Washer M8

Material

Weight

Steel

0.107kg

Q’ty/Box 120pcs

Material

Weight

Steel

0.111kg

Q’ty/Box 100pcs

Hex Bolt M8x45

Plain Washer M8

+
o
0

Material

Weight

Steel

0.150kg

Q’ty/Box 100pcs

Hex Bolt M8x55

Plain Washer M8




ACCESSORIES

& ()]
IS (o]
B
)
()] [®)]
o 5 8|8 sl=|8
LLl 828 gl o|ls
T h|oc|o h|o|o
s ]
b r
Q Q
© ©
= =
N
=
L
e
(&)
IS
5
@©
2
Q
)
£
>
wn
IS
IS
-
c
>
g
o]
> nl 2 5
= 3 = =
9 2 E} 3 =
g 5 5 = E
h g i :
5l = Z x| £
o | ©
= ®
Mﬂa I a
Iz
e E3 T Tea
(3 o wal : -
T 3 | & \
& 7 _ N
| . o |
w
3 IR EEGCIER
S 6 1
1 ! /
L ; ,rl\ —
p—
(=]
9
o
—
o
O
—
o
?
=
2 2|8 2|8
LLl TR & o 2|2
0| o |8 o - L
2 . | © - .| N
T h| 3| ® a| 3| -
] ]
e e
= = 4
[
>
=
—
(O]
=
S
N
_W O
—
=
5 O
y—_
&
— ( i Q
— ] = O
. g S
>
: A o)
7 7 LLi b

ACCESSORIES




P
a8
m
(9]
(7]
o
=
m
(%]

OTHER OTHER

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ

PC-A [Base Lock Metall PC-D [Pipe Lock Metall

[ ]I
Material Steel | | e Material Steel

Weight 0.063kg Weight 0.157kg

Q’ty/Box

150pcs Q’ty/Box

50pcs

PC-E [Pipe Clamp]

Material Steel

Material Steel 3%
) L 53
Weight 0.020kg

Weight 0.012kg

Q'ty/Box 300pcs Q'ty/Box 600pcs

[T
BL28YA-U [Pipe Holder]

S3OSS3I20V

Material Steel Material Steel

Weight 0.026kg

Weight 0.076kg

Q'ty/Box 400pcs Q’ty/Box 150pcs

Example for PC-A Example for PC-D Folding work table

(

%
%4

7 i 772

e

9=
704

A

Locking Folding

90



OTHER OTHER

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ

ECH-28A [End Cap Hanger] HM28YA [Hanger Metal]

)\ ECH-28A HM28YA
I —
= Ssss Material Steel Material Steel
™) . :
\! Weight 0.060kg Weight 0.049%g
] ‘ Q'ty/Box 70pcs Q’ty/Box 100pcs
1

PHR-28 [Hang Roller] HM28YB [Hanger Metall

HM28YA
Material Steel Material Steel
Weight 0.045kg RIS Weight 0.040kg
— Q’ty/Box 100pcs ]

Q’ty/Box 50pcs

Example for Hang Roller F-A [Handle (Flat Type)]

S3OSS3I20V

P
a8
m
(9]
(7]
o
=
m
(%]

Material Steel

Weight 0.020kg

Q’ty/Box 500pcs

Material Steel

50

Weight 0.020kg

Q’ty/Box 400pcs

92




ACCESSORIES

5

=
£ o
=
)
<<
8
&
@
o
o_ ¢ N
8 K y) 5
N \' \\
g3 ¢
© LAY JROB L
oot
) .
- Dy - [
o 324 Blg| 8 < <
S S 3 S S |3 (@) o
T Z o | — ¥ | o | — 0 o0
— 1) 2 0 <t
S : AE R B
— x —
glz|8|2 Sz 8 o) o)
s 2 2 8 8|8 2| S o o
= 2|08 = 2 o S ~ o
* * H H
- . .
o) o) m m
: f 3 : :
= \ =l C c
M () i) " o= =
= I 5 e o o
1+ .m .m ( — —
| = b 2 = 1 O L
= \
‘H © = | ¥ =
& Bl @) @
Ll 0 Y s < s
nﬁp -
¢ B g P £ =
S (4 X X
7 ol L —
€
£
i=
D
[ 4
@
e
(O]
T
@ G e
- w
—E F €
520 i 5l '
e I’
- -
« ) ik\
N e.ﬁd& |\\ 9%
=\
] . g 8 u i
@ S|P
—— S
599 Loy 599 WJ_
o 12 g |28
L] e e
_m n| o | — | O | —
@) sl |8 z|. |3
8§ & S 8§ 5 S
2|3 |2 5 © &
= = © = = O
©
4+
(O]
=
3 S
- \ c
N - = —
= B ”, o T
= " = —
N Z L2
=) £ [a'
B & .
=
s B o S
| £ HON . Q ﬁvm
- h g > T I
7 B — 3

ACCESSORIES




>
o
m
(9}
17}
(@]
)
m
(7}

* Surface Treatment - WZ Unit : mm
GS-1250A
Material Steel | S
. - SN -
Weight 0.100kg P\_ka
Q’ty/Box 90pcs T 2 T 35

[Tension]

GS-1250B

GS-1250B
33__ a0
. .
& Material Steel 15| 3
1
Weight 0.100kg L
Ao
Q’ty/Box 90pcs o® .
|
32.1 &

[Tension]

96

OTHER

* Surface Treatment - WZ

Material Steel

Weight 0.094kg

Q’ty/Box

90 pcs

S3OSS3I20V

Door Open

Door Locking

HK28WB

Material Steel

Weight 0.124kg

Q’ty/Box 70pcs




OTHER OTHER

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ

Q'ty/Box 500pcs Q'ty/Box 150pcs

AL Material Steel Material Plastic+Steel /
! - Weight 0.001kg — 2l Weight 0.019%g s
Q’ty/Box 1000pcs @ Q'ty/Box 90pcs - 8
1 &l
[
I
: f" 2 20
by 17 %} I
i ® .

Material Steel Material PlastictSteel

Weight 0.001kg i E[g"’ Weight 0.017kg 1 / R

Q’ty/Box 2000pcs - o Q'ty/Box 100pcs 5 &

6, ! -
8 g
o m
a =
3 - o}
o GS-1014CH 2
2 o m
oy e n
PH-A
Material Steel Material Steel f’
Weight 0.001kg Weight 0.050kg __é=_ 2

GS-1014CH

GS-1014C)J

Material

Weight 0.050kg J s J y

=
Q'ty/Box 70pcs ' J?_m

25

GS-1014C)

PH-B
Material Steel (‘ % %
Weight 0.001kg ’f& TH
Q'ty/Box 300pcs :
Same direction with Pipe _@_
55 24

GS-1014A
0% _ 0% PH-BI GS-1014A
i M _ 25
Material Steel 4(; E Z; Material Steel _ T
Weight L TH . I I o= ! !
9 0.001kg o Weight 0.130kg gl 4 ||| e L o
Qty/Box  300pcs P e | o TR ,;{
|
Rectangle direction with Pipe (y
24




~ ¢

/a\ OTHER OTHER
ol
* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ
GS-1014B GS-2070C
Material Steel 3 @
GS-1014B - -3 8 %
Material Steel , % Wl 0.120kg T - N
Weight 0.130kg ' |3 | {/ : Q'ty/Box 100pcs ] — _O
3 _* ‘F_ : j - = )
Q’ty/Box 170pcs I 1 = =t & Material | Thickness Part No. o
17 28 | 0.7 GS-2070C-C07
47
0.9 GS-2070C-C09
Coated

1.0 GS-2070C-C10
2.0 GS-2070C-C20
0.7 GS-2070C-S07

Material Steel STS/Eco 0.9 GS-2070C-S10 28 P

. 1.2 GS-2070C-S12 P
Weight 0.100kg

Q’ty/Box 56pcs

GS-2070D

Material Steel

P
a8
m
(9]
(7]
o
=
m
(%]

S3OSS3I20V

GS-1044B Weight 0.200kg |
Q’ty/Box 90pcs /
by uwy
-1044B
e Material = Thickness Part No. A 1oy
Material Steel 07 CS20700-C07 & N
-——
Weight 0.155kg 0.9 _ GS-2070D | [ —
Q’ty/Box 33pcs Coated . -
2.0 GS-2070D-C20
0.7 GS-2070D-S07
STS/Eco 0.9 GS-2070D-S10
1.2 GS-2070D-512 STS Pipe 0.7t

GS-1014CH or CJ §2070E

GS-1014B

Steel
Weight 0.069kg
Q’ty/Box 100pcs

Material

Material = Thickness Part No.

0.7 -

0.9 GS-2070E-C09 GS-2070E

Coated
1.0 -

2.0 -

0.7 -

Can be used temporary Stopper
porary Stopp STS/Eco 0.9 -

1.2 - @28 Pipe

100




P
a8
m
(9]
(7]
o
=
m
(%]

* Surface Treatment - WZ Unit : mm
RCP-32
Material Plastic
Weight 0.017kg g
Q'ty/Box 100pcs

* Color : Blue

BUSH-12

Material Steel

Weight 0.035kg

25.4

Q’ty/Box 180pcs

Joint for assembly : |
G-12S,G-17S, G-18S, G-24S, 144
G-25C, G-22S

Material Steel

-
i

|

Weight 0.155kg

=
=4
o= fi-

C
$_.
@ [ 1

Q’ty/Box 48pcs

102

* Surface Treatment - WZ

OTHER

Material Steel
Weight 0.370kg
Q’ty/Box 18pcs

S3OSSI0V

Material Steel
Weight 1.78kg
Q’ty/Box 40pcs

T

= il
I

=
P
=" =

: C=p




Material

Weight

0.105kg

Q’ty/Box

60 pcs

e

|

! O$CGGGOGOOOLJUOOOOCC&Q

S3ROSS3I0V

Material

Steel

Weight

0.305kg

Q’ty/Box

20 pcs

[OPEN]

[CLOSE]

OTHER

* Surface Treatment - WZ

MJC-G1

Patent Pending

Material

Plastic

Weight

0.013kg

Q’ty/Box

150pcs

* Color : Natural

Material

Plastic

Weight

0.012kg

Q’ty/Box

280pcs

74.5
76.5

* Color : Natural

Material

Steel

Weight

0.020kg

Q’ty/Box

120pcs

\ . \ * Color : Natural

S3OSSI0V

MIC-G4

Patent Pending

) 1’ Material Plastic
Weight 0.020kg
Q’ty/Box 120pcs

* Color : Natural

2

\Z
R,

D

(0

20.5

Patent Pending

Material Plastic
Weight 0.030kg
Q’ty/Box 150pcs

* Color : Yellow

in the Pipe side.

Prevention from accident in the night by
attaching reflection plate

6.4
50




ACCESSORIES

€ N
£ =)
= 2
~
z
)
83
gg
177 ) ey
\¢44 77X Ry 1]
WS 8 24
(ke s 32
/ 7 Q¥ o]
S | o
O\ & -
Y o c
\.?\leb £2
x e\ L
8lalals \.,./Q» :
S8 &8s AV
dlNll 9.\
A\
,.\,?.»mro»/ )
S R 3
‘@,f" i
&N
= (@) (@) ()] AN
< | X v v
o o —
O [ee] ™ ~
v = NN
= s S o
19 b4
% [Tp} [¥p} LN
3 < ™ ™ ™
o~ ™ <
=
] (o]
: S
o8 o
(ad = | n
Ll 19| c
e} % o
L &, h o | >
— 5 o |lo|o
]
O 7a = 3
§ X x| « T o O
N - &lz|=|= ¢ £ @
o> =] — WJ
© ()
S =2 o
N2 0]
o g
o .,m
| m r.r”
~ | = S
N (@) =
B = ]
c Bl o 2
(0] = ¥ (el —
c B m. i ~
g i
s TS - S
=N S ® o
. N m =
v} 1 1
Gl S o
Bl = x =
o L
£
£
-
z
o
L3
02
i
g8
_
& Fear
g A~ @ |2 WNY
gerenly g _/aEeRr
m -1
Tj_ : Fow‘\@
m__ ez @ @V
m__ [
R =s=ci=g=my | |8
i
i |
T
=
o _ =08 o | Z |8 |2 o= |8 |2 _ 2|8
L] g @ | & 2.9 8 & 2 9 &5 & g | o &
8| =<3 8|S |F |2 s o |82 Sl = |bm
T h| o | = oo N | g oo |9 |5 h| o | —
— = =
O :3 s &
T = B Tl |85 S e 8 =2 T = B
SRESIRS 5 e 28 % SIS|12(8 ¢ SRS
g 8 2 28 2|58 (8|2 %8 £ 8 2
- S 5 © () < 5 © o]
= = O = |2 o =0 = |2 o =0 = = ©
*x ok * ok
o .,
3 3 3 z
g 2 z - |
= B g s g :
N 5 5 5 3 _
i B 2 - :
2 =
c K R = =
- q 53 L i o 2
= = 3 S Py
' B & P 4
+— [a W (a9
£ ©
Bl = T T = o
* Ll

ACCESSORIES




TH40PA [Tool Holder]

OTHER

Unit: mm

Surface Treatment - WZ/BK

TC-28 [Tool Capl]

OTHER

Material Plastic
Weight 0.087kg Material Rubber
Q’ty/Box 50pcs o Weight 0.012kg
+ i ’
* THAOPA : PP (Color : BK) [‘.n | ; ] Q'ty/Box 450pcs
* THAOPNA : Nylon6 Nl
(Color : Dark Gray) L

TH50PA [Tool Holder]

Material

Weight

Q’ty/Box

* TH50PA : PP (Color : BK) M) !{-gyr.l ]

Plastic

0.087kg

50pcs .63

Unit: mm

PS-A [Rotating Cross Joint]

—

Material
Weight
Q’ty/Box

Steel
0.128kg

96pcs

|
* TH50PNA : Nylon6 "\ !
(Color : Dark Gray)

S3ROSS3I0V

TH50YA [Tool Holder]

Material

Weight

* Color : WZ

Steel

0.108kg

TH60PA/B [Tool Holder]

TH65YA [Tool Holder]

108

PS-B [Rotating Cross Joint]

Material

Steel

264.1 - Weight 0.104kg
Q’ty/Box 25pcs
v '\\ !;" . Q’ty/Box 96pcs

PS-C [Rotating Cross Joint]

Material Plastic
Weight 0.082kg 8 Material Steel .
Weight 0.105k 7%
Q'ty/Box 50pcs : 9 Méx10,1.©
* THB0PA/B : PP (Color : BK) Q'ty/Box 96pcs
* TH60PNA/B : Nylon6 TH60PA (Open)
(Color : Dark Gray) i TH60PB (Close) PS-C

SC-2845 [Shaft Cylinder]

Material Steel Material Steel
Weight 0.197kg Weight 0.190kg
Q’ty/Box 25pcs Q’'ty/Box 90pcs

* Color : WZ

109

>
(@)
(@]
m
193
173
o
o)
im
7]




ACCESSORIES

11

1

Unit : mm

1/2"or M12 Nut
Spring Washer

N
=
=
s}
S
fix
o
£
]
3
—

62e
|

=

1555

1/2"orM12 Tap

9,,,,,’., /y./l, /9/’

AR
Vi NAAVAN
&.,AVQ&&&W%/

&V@k\ »\« ﬂ‘u
09

o
@3
AV

&
a‘/oﬁ

Steel
1.110kg
12pcs
Steel
0.326kg
30pcs
Steel
0.260kg
30pcs

OTHER

Material

Weight
Material
Material

Example for MCP-G

Surface Treatment - WZ/BK

Unit: mm

Nylon Nut(M4)

MCP-BN-R

MCB-BN-L/R

995

.il‘

1.478kg
12pcs

1.478kg
Steel

Steel
Steel

OTHER

Material
Weight
Q’ty/Box

Material

Material

% Material

MCP-BN-R

Surface Treatment - WZ/BK

ACCESSORIES



ACCESSORIES

OTHER

OTHER

Unit i mm

Surface Treatment - WZ

Unit :mm

Surface Treatment - WZ

@28 Pipe

45x45 Frame

BC45-B

Steel

1.85kg

8pcs

Material

BC45-A [Base Corner]

Plain Washer M8
Hex Bolt M8x50

BC45-B [Base Corner]

&

<3

m

Steel

1.170kg

16pcs

Material

2

1

@

CS28L [Corner Support]

Steel

®| ©
S| s

[%}
g5
£l z

©

a

180

B82@
X + =)=

8l
G'ove
558
+ 4
5
1
s
-4 Jf\%
8l ¢
S2E 69
08 e'esl

0.705kg
24pcs

Material

Weight
Q’ty/Box

o
Ll
-
Q
£
o
[ (]
n 1S
X b
< 2
x
2
091
95§ wT % I
5 gz | |
_ = I o
4% & § §|
£ e |
4hed— %
T
]
|I_l W E0E
[e)]
_ 3
2 &g
h | < |5
o
-
g
©
=
| -
(O]
c
—_
o
@) ) /
= Q
o b2 _ .!\\
j- - fm
S m ® O .llh&\ y
2 S S (BT
g < &
22} () /
©Q a
n
3 §
o
@ >
LLi
[ee] o
=R
= [ee]
2=
8 =
A
£l 35
=l T
o
1=
+
ﬁv\
uw)
1=
Ny
I/OAJ [%]
— o 4]
35| 2
(V2] (@] o~
— x
§ ¢ 2
S =2 © ~N
™
h

CS28R [Corner Support]

ACCESSORIES



OTHER OTHER

Surface Treatment - WZ Unit : mm Surface Treatment - WZ Unit : mm

FG-01 [Fork Guide] FG-04 [Fork Guide]

240 240
i
= - -1 e ===
—_ ] —_ Y |
_@__ -t = D0 g GM845W / NNO8W b |z Lo gl GMS845W / NNOSW
ol — — | — — |- ! I
? = } = [; i g -z -z i i) gl
1 [ — — ]
v 280
| 210 ; 35 |
—_ 1 —_ = 275
P__l R 'I I - L 210 30
Material Steel ¥ - Material Steel = i =
[ 8|2 t -]
Weight 2.440kg - Weight 2.300kg ols
Q’ty/Box 2pcs z‘:’; - Q’ty/Box 2pcs
204 o
212
FG-03 [Fork Guide] Example for Fork Guide
> R .
(@]
3 = E— - —— q
(9] = [
: i ¢ 2
= i X
= B e ) ﬁ
& | - — o
225
crtrr————1h—=
- T e ) +
Material Steel T =
e A
. £ 8||o
Weight 1.770kg g5|°
Q’ty/Box 2pcs 150(735H) -
158

114 115




P
a8
m
(9]
(7]
o
=
m
(%]

OTHER

Surface Treatment - WZ Unit i mm
FS-A [Front Haul Ass’y-Spring Typel
o Hex Bolt M8x45
Plain Washer M8
CM-100
[L 3
: § =]
Material Steel o [osoe, :} !ér
Weight 3.400kg il B e 2 o
$ —— = - ~
Q'ty/Box 4pcs F m 4 0 = ~~_Nylon Nut M8
Py o
RS-A [Rear Haul Ass’y-Spring Typel
Hex Bolt M8x45
] Plain Washer M8
RN
w =]
od P~
o
- —
wy
] _L 0 0
e g &
0+ 1
Material Steel 8.5 e
R P2
Weight 1.500kg = ﬂ] @
Y o
Q’ty/Box 4 pcs 2-MB
B
Plain Washer M8
Nylon Nut M8
'l
I
|
‘
|
l
@

FS-A

116

OTHER

Surface Treatment - WZ

FQ-B [Front Haul Ass’y-Quicking Typel

%

§
§
Material Steel ©
o [S%200e —Il QI

Weight 3.100kg 0+ @
b3 S

Q'ty/Box 4pcs =00

Hex Bolt M8x45

Plain Washer M8

Plain Washer M8

Nylon Nut M8

RQ-B [Rear Haul Ass’y-Quicking Typel

a»
32.5

52.5

|5

¢ ©

9;‘59@
85.5

Material Steel

70

105
= | =9

4+ §<
=2

(=]
70

Weight 2.100kg

195

Q’ty/Box 4pcs

N v
I b
575

310.2

Hex Bolt M8x45

Plain Washer M8

Plain Washer M8
Nylon Nut M8

Gia
ee—
Giﬁ

117

>
(@)
(@]
m
%]
7]
o
o)
m
(%]




P
a8
m
(9]
(7]
o
=
m
(%]

OTHER

Surface Treatment - WZ Unit : mm

FS-AN-1 [Front Haul Ring Ass’y]

T =

2 g
% 30
18
Material Steel
}
Weight 2.046kg Eok @f 3
4
Q'ty/Box 6pcs A
RS-AN-1 [Rear Haul Ring Ass’y]
82.4 -
\
.l - =
w u] ?
0= oo [ | | 5 —T
5 |0l
925 RS 5
)
. 175 36 —
Material Steel 210 %
Weight 1.090kg

Q’ty/Box 28pcs

118

Surface Treatment - WZ

OTHER

Unit : mm

RQ-C [Rear Haul Ass’y-Quicking Typel]
68

Material
Weight
Q’ty/Box

Steel
3.380kg

6pcs

Material
Weight

Q’ty/Box

Steel
0.198kg

20pcs

Material

Weight

Q’ty/Box

Steel
0.052kg
220pcs

119

>
(@)
)]
m
(9]
17}
(@)
)
m
7]




OTHER OTHER

Surface Treatment - WZ Unit : mm Surface Treatment - WZ

HC28A [Hole Cup-A] GRHA-15R [Bearing Pulley Ass’y (Right)]

Material Steel Material Steel

- 0 _ Weight 0.129%g
|

f % Q’ty/Box -
A ‘

GRH-15R [Pulley Holder BKT (Right)]

. GRH-15R
Weight 0.300kg 5

Q’ty/Box 20pcs

HC40 [Hole Cup]

Material Steel
Weight 0.394kg Material Steel
Q’ty/Box = Weight 0.055kg

Can be used to stack 2nd floor Q'ty/Box 270pcs

Trolley with welding round or
Square pipe

Example for Hole Cup

> >
o 8
m m
(%)) [9)]
wn wn
o] o
2 2
o a

GRHA-15L [Bearing Pulley Ass’y (Left)]

LY,

A 546
-1 Material Steel 108278
— s @' Weight 0.129%g GRH-15L
> Q’ty/Box -
'@ (]

¥

%

e

|

%

Material Steel

Weight 0.055kg

Q’ty/Box 270pcs

Fl
|

i

120 121




OTHER OTHER

Surface Treatment - WZ Unit : mm Surface Treatment - WZ
GRVA-15R BRA-32

Material Steel - Material Steel

Weight 0.122kg Weight 0.012kg

Q’ty/Box - Q’ty/Box 1,000pcs

GRV-15R

Material Steel Material Steel N (S —

—-
Weight 0.0061kg \\/ J

Q’ty/Box 2,000pcs 6.2 8

Weight 0.055kg

Q’ty/Box 240pcs

P
a8
m
(9]
(7]
o
=
m
(%]

S3OSS3I20V

Material Steel

Weight 0.004kg

Q’ty/Box 3,000pcs

GRVA-15L

e
5
.

33 . B2

[—1 29 _ 33

Material Steel :
Y =]
Weight 0.122kg sl 80 o8 1 GRH-15L
= & I ——

Q'ty/Box = o ﬂ e o 8 — :

135] 19,_5._J Wrench Bolt M6x10

GRV-15L

GRH-15L/R

Material Steel

Weight 0.055kg

Q’ty/Box 240pcs
BRA-32

CP-32
Spring Washer M6 \

‘®

Wrench Bolt M6x25 _~

122




OTHER

Surface Treatment - WZ

CFG-28A [Chassis Frame Guide] LK28A [Pipe Connector (Coated Pipe)]

i | CFG-28A

Material Rubber Material Steel v Lo [ o | J
Weight 0.021kg Weight 0.046kg ® -
Q’ty/Box 450pcs Q'ty/Box 120pcs e 7 =

*Color : Gray ED o o j_\<_

6

LK28S [Pipe Connector (STS/Eco Pipe)]

Material Rubber

Material Steel & o 1 o 3

Weight 0.046kg

Weight 0.022kg

Q’ty/Box 450pcs 25 25 153

Q'ty/Box 120pcs |

* Color : Blue

PFG-28B [Panel Frame Guide] MB-15 [Monitor Bracket (VESA Hole standard)]

) 125
$77 i ‘|
_ﬂ wr Material Rubber JHHEEH‘

Weight 0.023kg

S3ROSS3I0V
S3OSS3I20V

Material Steel

Weight 0.350kg
Q’ty/Box 450pcs 13.7 244 244 21.4 20

T 1 [
* Color : Yellow ED =
q-

Q’ty/Box 20pcs

Material Rubber i I I
i |

Weight 0.022kg

Q’ty/Box 450pcs

* Color : Blue

AGP-28A

Material Rubber

Weight 0.030kg

Q’ty/Box 450pcs

* Color : Gray

124



Surface Treatment - BK/Ni Unit :mm

P
a8
m
(9]
(7]
o
=
m
(%]

Pipe cutter for quick & safe cutting to
DIY (Customer) & Procdution line.

01. Range : @26~@30

02. Material : STS-Pipe, Coated-Pipe, Steel-Pipe

03. Pipe Hand Cutter (HC-1) 1 set : including Pipe
Cutter Knife( PK-1) 1EA and Bearing 1EA

Weight

0.016Kg

Q’ty/Box

90 pcs

Weight 0.52Kg 04. Spare Pipe Cutter Knife (PK-1) can be purchased
Q'ty/Box 21 pes separately and \Nh‘en purchase PK-1,
Bearing would be included.
Bearing 6862z

* Knife for Pipe Hand Cutter (HC-1)

126

Material

PVC

Weight

0.080kg

Q’ty/Box

180pcs

Material

pvC

Weight

0.047kg

Q’ty/Box

360pcs

Material

pvC

Weight

0.035kg

Q’ty/Box

190pcs

S3OSS3I20V

Material

PVC

Weight

0.032kg

Q’ty/Box

190pcs

Material PVC
Weight 0.023kg
Q’ty/Box 330pcs




NAME PLATE

Material PVC
Weight 0.017kg
Q’ty/Box 1000pcs

Material

PVC

Weight

0.019g

Q’ty/Box

1000pcs

-

B N R

i o

L
Rl B o nig

S3RI0SS3I0V

Material PVC NP-G
Weight 0.026kg — .. GAP-58
L s — T
Q’ty/Box 360pcs DR T A
| 150 |

uy

g NP-H
Material PVC
Weight 0.013kg
Q’ty/Box 1000pcs

Namg — Material PVC
. e~ g
Aoung 1y, “‘!;;--.‘ -
: SO S o4 Weight 0.011kg
Q’ty/Box 1000pcs

128

OTHER

Material PVC
Weight 0.013kg
Q’ty/Box 300pcs

-
1

100
P
E[
. Material PVC
Name Plate : NP-L
Weight 0.020kg
Q’ty/Box 1000pcs
150

>
Q
@)
m
1))
(2]
o
=
m
(%]




P
a8
m
(9]
(7]
o
=
m
(%]

LABEL CASE

Configuration

[— —) [— ——

4 Hole
W
3 Hole
W
| |
T
2 Hole
- ‘ lel
T
= 1 Hole

LA 300100
LA-B 300%120
LA-C 300%220 (Horizontal)
LA-A3430%320
LC 25080

LC 250+100

LC-B 210+80

LA-D3 15060

LA-G 230%95

LA-E210%100

LA2 300%100

LA 215%160

LA-C2 220%300 (vertical)

LA-D 150#60

LA-H 170%135

LA-P 136*40

LC 18085

300

300

300

430

250

250

210

150

230

210

300

215

220

150

170

136

180

100

120

220

320

80

100

80

60

95

100

100

160

300

60

135

40

85

0.040

0.045

0.084

0.177

0.024

0.030

0.021

0.012

0.027

0.028

0.040

0.045

0.080

0.012

0.030

0.007

0.021

Unit :mm

Qty/
Box(pcs)

300

200

250

250

300

300

300

300

1250

850

300

200

250

1000

300

300

300

PLASTIC GUIDE

Material

pvC

Length

3,000mm

Weight

0.420kg/m

Material

PvC

Length

3,000mm

Weight

0.570kg/m

Material

pvC

Length

3,000mm

Weight

0.860kg/m

Material

pvC

Length

3,000mm

Weight

0.500kg/m

Material PVC
Length 3,000mm
Weight 0.970kg/m

S3ROSS320V



PLASTIC GUIDE PLASTIC GUIDE

RG-40B40

Material PVC

40

Material PVC ’ 32

Length 3,000mm w I L‘
4
Weight 1.400kg/m

Length 3,000mm

42

Weight 0.740kg/m

5

Use 5mm thickness board panel Board Panel

Material PVC

Material PVC ) B

Length 3,000mm

Length 3,000mm

715
415
|

u

Weight 0.490kg/m

Weight 0.700kg/m

Use 5mm thickness board panel

Board Panel

S3ROSS3I0V
S3OSS3I20V

Material pVC Material PVC

68.5

Length 3,000mm Length 3,000mm

Weight 0.026kg/m

[+a]
Weight 570kg/m =

Material PVC Material PVC

Length 3,000mm Length 3,000mm

Weight 0.860kg/m Weight 0.022kg/m

Material PVC

Material pPVC

Length 3,000mm

20

Length 3,000mm

Weight 0.450kg/m

Weight 0.360kg/m

Use 5mm thickness board panel

Board Panel




AL BOX GUIDE

Material Aluminum
Length 4,000mm
Weight 0.79kg/m

]
6.1 ]
29.6

35.7

ARG-35B

Material Aluminum
Length 4,000mm
Weight 0.81kg/m

38

26 |

28.6

S3ROSS3I0V

Material

Aluminum

Length

4,000mm

Weight

0.52kg/m

ARG-35C

ARG-40A

Material

Aluminum

Length

4,000mm

Weight

0.53kg/m

68.5

ARG-40A

Material

Aluminum

Length

4,000mm

Weight

0.67kg/m

7.2

134

ARG-4030BL

PLASTIC GUIDE

Material

32

Aluminum 28.6

Length

4,000mm

Weight

0.87kg/m

/]
F’

ARG-4030BL

) 28.6
Material Al
uminum = =[-—"L
Length 4,000mm 3 1.4
= .
(=]
Weight 0.62kg/m =

ARG-40C

Material

Aluminum

Length

68.5

Weight

4,000mm
] o
0.52kg/m H ]]Tl b

ARG-40F

Material

Aluminum

Length

4,000mm B 286 [

Weight

1.11kg/m

365

Material Steel
/‘ : Length 4,000mm
Weight 0.91kg/m

ARG-4045B

135

S3OSS3I20V



ACCESSORIES

£ ™~
I o
i -
€
>}
S
LIRG
<<
[¢0)
N
Q
(%)
<C
LLl
)
)
(@) mmm
Pl 2| e 2
c O O
O E|o|®
= I !
m = | < | o
—
B =
8 5 5
5 5§ ©
s 8 =
<
0
o
O]
A
<C
£
S
= (@]
[ o
> ©
V)
[a 4
<
o
o 9 3
g 7 b g
9 3 2 T
2 < A
<<
of [IL_1,
S'le
ﬁg
=t
1
LLl L
Z
Z
aC
(@)
O Ele|E o | < o | < o | < o | <
— nmg 2| w 2| w 2| w ~ | w
= E(2 ] = IS S S 8|8 N8
@) S|a|m Bla|a a@la|3 B3| S @3S
A < | < | O < | ©O | © < | O < < | O < < | © | <
-
()
— = x = x — x o x
2|5 gl & gl & g 2 3 223
.mm, mnlu.N; mnlu.N; mm..w, mm..w,
S 5 ©c 9@ T O ©c O 4 ©T O i
= 3 = = © = = © = = U = = U
|
=)
1
@) .D/n_% .A__
" e
S 8 < < N5 <
© > > I s I
1 ] 1 T = I
G) Q Q (O} | > Q
: 2 2 2 2 3
5 ™
w

ACCESSORIES



=
a
m
(9]
7]
(©]
=
m
(%]

Material-PVC

T-Type

U-Type

138

PLASTIC CHANNEL

Unit :mm

Thickness H W Weight (kg) Configuration
3 30 50 0.370
4 30 60 0.525 >~
4 30 75 0.618 P
4 50 50 0.544
4 50 75 0.656
4 50 100 0.886 i
4 50 150 1.116 i >
4 80 90 0.978
5 50 50 0.590
5 50 75 0.884
5 50 150 1.510

Part No
Thickness Weight (kg) Configuration
Normal

AT-1 EAT-1 4 50 100 0.904

AT-2 EAT-2 4 100 60 0.906

AT-3 EAT-3 4 150 60 1.145 .
T
“iF o>

Thickness

Normal

AU-1 EAU-1 3 36 - 36 36 0.454
AU-2 EAU-2 3 55 - 30 40 0.572

Part No
Thickness

Part No

Thickness
Normal ESD

PC-01 EPC-01 2.5
PC-02 EPC-02 2.5

75° - - - 0.320
135° - - - 0.310

LEVELING FOOT

Small-Type

Unit : mm

AD30PA [LEVELING FOOT] AD32WA [LEVELING FOOT]
\ﬁﬁ; s
sap

M8
| :=f':
Plasiic 32J
- Weight :0.035kg o : - Weight :0.053kg
- Q'ty/Box : 150pcs m - Q'ty/Box : 125pcs
Part No Base Diameter Threaded Spec | Threaded Length | ESD
AD32WB 50 o)
1/2"-12N
AD32WC 100 O
AD32WB-M 3z i 50 ¢}
AD32WC-M 100 )
AD32WD 232 1/2"-12N 150 @)
- ADS50WA 50 O
[ADSOWA/B] ~ [ADS0WA/B-AC] %50 1/2-12N
) 4 AD50WB 100 O
AD50WA-M 50 @)
@50 M12
ADS0WB-M 100 o)
ADS0WA-AC 50 O
@50 1/2'-12N
AD50WB-AC 100 @)
STS-Type (Optional Pad)
Part No Base Diameter Threaded Spec | Threaded Length | ESD
~
= AD355A 50 ¢)
| £ 235 1/2"-12N
£ £ AD35SB 100 o)
£ ﬁ—’ AD40SPA 1/2"-12N 50 o
Q“ @40
ADAOSPB (RubberType) 100 o
Rubber Pad-Type
Registration patent Part No Base Diameter Threaded Spec | Threaded Length | ESD Type
= AD32RA 50 o
i @32 1/2"-12N
g AD32RB 100 o
5 AD32RA-M 50 o
Oéﬂ @32 M12
e AD32RB-M 100 O
Registration patent ADEIRN 50 1/2"-12N L ©
ADSORBN 100 o)
AD50RAN-M 50 ¢) 88
@50 M12
ADSO0RBN-M 100 ¢}
ADSO0RDN x
@50 1/2"-12N 150 2,
ADS50REN 200 X

AD50RAN-H [Leveling Foot] RB-AD37 [Leveling Foot Rubber Pad]

1/2'-12N

i

- Weight :0.120kg
- Q'ty/Box : 60pcs

- Weight :0.006kg
- Q'ty/Box : 1,500pcs

139

>
Q
@)
m
1))
7]
o
o)
m
(%]




THREADED INSERTS & INNER CAP OTHER

Thread Inserts Unit : mm EWS-() WORK STOPPER
Part No Classifcation Application Colors Threaded Spec | Material A Dimension STANDARD TYPE [Material-STS] Part No Model Weight Q’ty/BOX
BC2807A _ 1/2"-12N ool EWS-A GP4036A/4036B 0.056kg 240pcs
BC2807B ihite M12-P1.75 tee EWS-B GPA050C 0.041kg 300pcs
228%T0.7 2241
BC2807C Gray 1/2"-12N Plastic EWS-C GP8550B 0.136kg 70pcs
BC2807D White M10-P1.5 Steel EWS-D GP4050D 0.061kg 160pcs
BC2810A 1/2"-12N A EWS-E GP3533B 0.036kg 320pcs
- EWS-F GP6033B 0.085k 170
seesne #28xT1.0 White M12=P1.75 Steel 5235 . : =
BC2810C Coated Pipe : 1/2"-12N EWS-F2 GP6033B(2Roller) 0.046kg 110pcs
BC2810D M10-P1.5 EWS-G GP4040A/B 0.085kg 240pcs
1/2"-12N EWS-G2 GP4040A/B(2Roller) 0.036kg 140pcs
BC2814A R Gray / Plastic 2227
BC2814B White M12-P1.75 EWS-H GP7040B/8540L 0.130kg 120pcs
BC2820A Whi 1/2"-12N EWS-J GP6016S 0.078kg 200pcs
- #28xT2.0 e Vio-p1 s Steel 510 EWS-12 GPE0165 (SRoller) 0.050kg 250pcs
BC2820D 228x72.0 White M10-P1.5 Steel : EWS-K GP8543B/HA 0.140kg 90pcs
BSO7A 212N e SPECIAL TYPE [Material-STS] Weight Q'ty/BOX
BSO7B 228%T0.7 White M12-P1.75 Steel ' EWS-AN GP4036A/4036B 0.056kg 240pcs
BSO7D M10-P1.5 2263 EWS-GN GP4050C 0.041kg 300pcs
BST0A i 1/2"-12N .
STS Pipe F98XT1.0 White / Steel 3261 EWS-GN2 GP8550B 0.136kg 70pcs
BS108 ECO Pipe M12-P1.75 EWS-MN GP4050D 0.061kg 160pcs
BS12A 1/2"-12N - EWS-PN GP3533B 0.036kg 320pcs
BS12B 28xT1.2 White M12-P1.75 Steel )
B BS12D M10-P1.5 2253 B
(@] (@]
m BC3210A 1/2"-12N Steel m
wn _ 7))
172} Coated Pipe @32xT1.0 White 227.5 w0
;CU) BC3210B M12-P1.75 Steel Part No Pipe Diameter Remark ,OU
oy AS2807A STS Pipe . 1/2"-12N GAS-07A 228X10.7 wz o
AS28078B ECO Pipe v ‘ M12-P1.75 6o Coated Pipe
. GAS-10A @28X11.0 wz
AC2809A 328xT1.0 Gray 1/2712N Aluminum @23.8
AC2809B o M12-P1.75 GAS-07S 228X10.7 wz
oate e i
AC2814A P 1/2-12N STS/Eco Pipe
@28%xT1.4 @22.8 GAS-12S @28 X11.2 Wz
AC2814B M12-P1.75
Oz /212N - Weight :0.009kg
All Pipe @28 White Steel @27.7 . Q’ty/BOX :600pcs
OB28BN M12-P1.75
GAM-07S [METAL CAP] Part No Pipe Diameter Remark
Inner Cap Unit - mm
@216
Classification Part No Colors Marking Material Dimension
GAP-4P-i Ivory
®
GAP-4P-B Black GAP-4p GAM-07S STS Pipe $28X10.7 w2z
All Thickness Pipe GAP-4P-G Gray -
(Coated Pipe & STS Pipe)
GAP-4R-B Black GAP-4R + Weight +0.037k
* - Q'ty/Box : 500pcs
b28 GAP-4C-i Ivory
RF-01 [Rubber Foot] RF-02 [Rubber Foot]
Coated Pipe GAP-4C-B Black GAP-4C Plastic
GAP-4C-G Gray
GAP-45-i Ivory
STS Pipe
ECO Pipe GRp=asE Black GAP-4S
GAP-45-G Gray
GAP-4310-i Ivory
232 Coated Pipe GAP-4310-B Black GAP-4310 RF-01 : Normal (D/Gray) - Weight :0.035kg - Weight :0.011kg
GAP-4310-G Gray RF-01E : ESD (Black) - Q'ty/Box : 250pcs - Q'ty/Box : 450pcs

140 141




OTHER

Fasteners

@ TNO6W M6 White MO610W P1.0 White
[ )
] y T-Nut Metal Joint M6x10 Metal Joint
U TNO6B M6 Black MO0610B P1.0 Black
ﬁ SW1o0w M10 M10Bolt MO0625W P1.0 White
[ \ Spring .
L ) Washer White M6x25

SW13wW M12 M12Bolt MO0625B P1.0 Black

i
. Metal Joint

PWO5W M5 M5Bolt J M0630W P1.0 White
\ ( ) Flat Washer White M6x30
PW10W M10 M10Bolt M0630B P1.0 Black

A 5 MeBolt / © MOB3OW  M8:30 P1.25
= White AL Joint
<
NNOBW M8 M8Bolt MOB4OW  Mex40 P1.25
W7
W

Nylon Nut

7o
(’ » NN1OW M10 White | M10Bolt

d M1020W M10Bolt P1.25
— White Caster
— NN12W M12 M12Bolt M1225W  Mi2Bok | P1.25
NNOSW-i  MChNylon g 5n_ g5y inch Bolt GMB35W Pl Caster
Nut
GM84OW P1.25

NO6W M6 M6 Bolt /
GM845W P1.25
Nut // M8Bolt White
Base Lock-
4

” !
A @ ) NoBW M8 White  M8Bolt L GM850W P2 Metal
w GM860W P1.25
NiO5W-12 Inch Nut 1/2"-12N InchBolt Pp— -
i THREADED STEM TYPE
" Inch Bolt N Cast
<5 Giosa2w-12 3510 1/2"-12N aster HM0620 P1.0 GRIP RING TYPE
- >
i White KNOB Bolt Black  Metal Joint
Inch Bolt Base Lock FASTENING RUBBER TYPE
Gio575W-12 o - 1/2"-12N o HMO630 0.

TOP PLATE TYPE

142 PIPE RACKING SYSTEM




CASTERS NUMBERING SYSTEMS

EEE]E 1B

STEM Type Wheel Size Wheel Material

Thread [S] Swivel [ 1] Soft Rubber [B]Brake
GripRing 32 25-2.5" [R]Rigid (2] Polyurethane (Red) [DB| Double Brake
Fastening Rubber 36 3-3" Nylon Stainless
[P] Top Plate Type 50 35-3.5" Rubber Plastic STS Brake

60 4-4" Polyurethane (Gray)

62 6-6" ESD

68 8-8"

THREADED STEM TYPE

Design

SWIVEL
T302S-1
T3025S-2
T36255-1
T3625S5-2
T36255-4
T363S-1
T363S-3
T363S-4

Wheel

144

Part No.

T302S-1B
T30255-2B
T36255-1B
T36255-2B
T36255-4B

T363S-1B

T363S-3B

T3635-4B

2.5"

THREADED STEM TYPE

Wheel
Material

Soft Rubber
Polyurethane
Soft Rubber
Polyurethane
Rubber Plastic
Soft Rubber
Nylon

Rubber Plastic

IncE(mm)

20

25

Plain

Plain
Ball
Ball

Plain

Plain

Ball

35
45
40
45
65
55

T302S5-2 T302S-2B T363S-1 T3635-3 T3635-4

Threaded

Section | gpecifcation

72

87
Light 1"x12N-15L

99

Soft Rubber Polyurethane Polyurethane Rubber Plastic

Design T503S-2 T503S-2B
. Wheel ‘l’ . Threaded
: - Section Y
SWIVEL BRAKE ESD Material Inch(mm) Specifcation
T5035-1 T5035-18 T5035-E Soft Rubber 56
103
T503S-2 T503S-2B - Polyurethane 100
32 Ball Light 15"x12N-25L
T504S-1 T504S-1B T504S-E Soft Rubber 75 18
T5045-2 T5045-28 - Polyurethane 100
Wheel

Soft Rubber Polyurethane(Gray) Polyurethane(Red) Polyurethane(Gray)

GRIP RING TYPE

Design

PartNo Wheel
Wheel
Section Threaded
SWIVEL __ BRAKE__RGD '“Ch‘m”” - Specifcation

G8135-2 G8135-2B G813R-2 Polyurethane Plain 100 Light ®11X38mm
. o GAP-9C Coated Pipe (©28XT1.0)
Assembly : Pipe + GAP-9 + Grip Ring Caster
GAP-9S STS/Eco Pipe (©28XT0.7)
145



FASTENING RUBBER TYPE TOP PLATE TYPE

FC/ FS302S-1 FC/ FS302S-1B FC/ FS302R-1 FC/ FS504R-4K Design
X . P363S-3S P504S-2 P504S-2B P504R-2 P504S-2DB

Design

-

Part No. I
SWIVEL i Material
P3635-3S ) .
(All Stainless) B .,
3 Nylon 25 Plain 65 95 70X60 55X42
P3635-3
(Steel) - - -
P5035-1 P5035-1B P5035-1DB P503R-1 y  SoftRubber 56 .
! P5035-2 P5035-28 P503S-2DB P503R-2 Polyurethane 100
i P5045-1 P5045-18 P5045-1DB P504R-1 Soft Rubber 75
SWIVEL BRAKE el 2045 204 o045 -0 e 3 Ball 128 o5x64  75%45
" P504S-2 P504S-2B P504S-2DB P504R-2 Polyurethane 105
FC3025-1 FC3025-1B - 2 . - 35 72
ain P5055-1 P5055-18 P5055-1DB P505R-1 ft Rubb
FC3035-1 FC3035-1B - 3 45 97 205 205 o0 o0 g | SoftRubber s 156
- P5055-2 P5055-28B P5055-2DB P505R-2 Polyurethane 115
FC3635-1 FC3635-18 - ; Plain / Ball 45 99
FC363S-4 FC3635-4B FC363R-4 3 e Ball 50 99 % P503 / P504 / P505 Series : ESD is available
ol Pz FC3645-1 FC3645-1B FC364R-1 - Plain / Ball 55 123
FC3645-4 FC3645-4B FC364R-4 Ball 60 123
FC5035-1 FC5035-1B - 3 . o 56 104 Wheel
Feonas2 Fe0as28 g N o 129 Soft Rubber Polyurethane(Gray) Polyurethane (Red) Polyurethane(Gray) Nylon
FCD3745-1 FCD374S-1B - g 20 Disc 55 124
FS3025-1 FS3025-18B FS302R-1 2 » Plain 35 72
FS3035-1 FS3035-18B FS303R-1 3 Plain 45 97
FS$3635-1 FS3635-18 - . Plain / Ball 45 99
FS3635-4 FS3635-4B FS363R-4 o Ball 50 99
STS/ECO Pipe FS3645-1 FS3645-18 FS364R-1 Plain / Ball 55 123
FS3645-4 FS364S-4B FS364R-4 4 Ball 60 123
FS5035-1 FS5035-18B - 3 , 56 104
32 Plain
FS504R-2 4 85 129
FSD3745-1 FSD3745-18B - 4 20 Disc 55 124

*FASTENING RUBBER TYPE : ESD is available

el Ml 2 St Bl (6 1) / ESD Soft Rubb FC : Fastening Rubber-Coated Pipe (©28XT0.7 / T1.0)

FEET et TR G el ortRuBber FS : Fastening Rubber-STS/Eco Pipe (©28XT0.7 / T1.2)
[SWIVEL]

[J/HPE

SCREW

[RIGID]

—

Assembly

<A>

146 147



SWIVEL
P624S-2
P625S-2
P626S-2
P664S-2
P665S-2
P666S-2
P686S-2

P688S-2

Wheel

Simple

Drawing

148

P625S5-2 P6255-2B P625R-2 P686S-2

Part No.

P624S-2B
P625S-2B
P626S-2B
P664S-2B
P665S-2B
P666S-2B
P686-2B

P688-2B

P624R-2
P625R-2
P626R-2
P664R-2
P665R-2
P666R-2
P686R-2

P688R-2

3% P686 Series : Shock Absorbing Caster

[SWIVEL]

<Ay

QR 2 9

P.U / CastIron P.U / Cast Iron(B/B)

39

TOP PLATE TYPE

Wheel
Material

Polyurethane

Polyurethane

Polyurethane

Polyurethane

38

50

50

[SWIVEL BRAKE]

LA

Roller

Roller/ Ball

Ball

Roller/ Ball

136
161
191
143
165
187
200
248

[RIGID]

Plate Dimension (mm)

OveralkpxE)

114X102

114X102

159X114
159X114

e

LAY

AT

Hole@®xc)

80X76

80X76

125X62
125X62

{EX

KH-200 (FLOOR LOCK)

Design
KH-200-Adjustment KH200-6 KH200-8

o Tew RN,

p

Item No. Strigke Bolt disstance BoItBhoIe ot el

KH-200-4 103 27 130 ~ 145 150 97 X 88 70X 60 10 125~140
KH-200-5 120 27 147~172 150 97 X 88 70X 60 10 145~165
KH-200-Stainless 160 45 205~230 195 120 X120 85X 85 10 188~220
KH-200-Adjustment 160 45 205~230 195 120X120 85X 85 10 188~220
KH-200-6 160 45 205~230 195 120X 120 85X 85 " 188~220
KH-200-8 210 40 250 195 120 X120 85X 85 " 240~245

% Please Referring the caster height to select the Floor Lock

[SWIVEL] [STEM]

Simple
Drawing
=l
l 35mm
Land
Attached Side

149



LIFT TABLE

7 Feature

User can easily move the table of the lift table in accordance
with the height of him or her.
Also, the user will plainly modify the structures of the lift table.

LIFT TABLE

Comprehensive Production from part manufacturing to assembly

ADVANCED MECHATRONICS SOLUTIONS, INC

7 Specification
TABLE SIZE 800X600 1200x800
STROKE MAX. 200mm
OPERATION MANUAL
LOAD 10Kg

7B.0.M (LT-500) 7 Dimension
o
L-500 RAIL EA 2 | S 2
TM16-500 SCREW ASS'Y EA 1 |
GAP-21A NUT BLOCK EA 1 = A
GAP-22A BEARING BLOCK EA 1
BBO1 BALL BEARING EA 4 Cjnn 1 ! 5
HD-80 HANDLE SET 1 =
S2807 PIPE MT - Condition of the sizes E
GAP-4P INNER CAP EA 4 =l D=
GAP-12 SLEEVE EA 10 e .
GA-1S JOINTS SET 10 Jj _i ” i“
GA-12S JOINTS SET 10 = =
PS-A JOINTS SET 2 0750
BSO7B THREADED INSERT EA 8
M1225W BOLT EA 8
SW13W WASHER EA 4

% LT-750 requires L-750 rail

ST=200




LIFT TABLE COMPONENT

7 Lift Table Component

L-500 [Rail] L-750 [Rail]

QI%

- Weight :1.37kg
- Q'ty/Box : 40pcs

BBO1 [Ball bearing]
ﬁ—

- Weight :0.912kg
-+ Q'ty/Box : 50pcs

TM16-500 [Screw ass’y]

Ty
'.'i‘ﬁ'n'ii'n'ﬂ“umu|\|.~nm.'lé|

e T
e
B e

™16

- Weight :0.570kg
- Q'ty/Box: 100pcs

- Weight :0.060kg
- Q'ty/Box : 84pcs

GAP-21A [Nut block] GAP-22A [Bearing block]

-

HD-80 Specification

0 40

4
i

i
2

i

- Weight :0.133kg
- Q'ty/Box : 42pcs

- Weight :0.115kg
- Q'ty/Box : 42pcs

=
T
P
o]
@
m

HD-80 [Handle]

‘ [tem Spec Qty Note
Wheel @80 x M06 1
Handle M6,L=60 1
Key 4x4x15 1
Wrench Bolt M4 x 10 2
- Weight :0.180kg
- Q'ty/Box : 30pcs SNAP RING SN12 1

152

BENDING STRENGTH FOR PIPE

500 mm

400

300

350

363

200

100 |

0

t0.7

t1.2 t0.7 t1.0

t0.7 t1.2

A A ECO Pipe Coated Pipe STS Pipe
Unit :kgf
Spec. of Pipe Eco Pipe Coated Pipe STS Pipe
Test Condition 928x10.7 158 173 166
1. Test Speed : 5mm / min @28x11.0 - 266 -
2. Temperature : 23C
@28 xt1.2 350 - 363
BENDING STRENGTH FOR PIPE Unit :kgf
Model Load
’%’\ 35 Series 80
NN AN N AN TN Test Condition
40 Series 150
1. Test Speed : 5mm / min
L 2. Temperature : 23C 60 Series 100
900mm 70 Series 200
85 Series 300
COMPRESSION STRENGTH OF WHEEL SUBASSEMBL Unit :kgf
Model Load
35 Series 100
Test Condition
40 Series 150
1. Test Speed : 5mm / min
2. Temperature : 23°C 60 Series 200
///////// 70 Series 200
85 Series 300
o
ANGLE RECOMMENDED FOR CONSISTENT Unit :kgf %
Model Load 2
BOX 35 Series 2.5°
Test Condition
40 Series 2.0°
1. Test Speed : 5mm / min
9 2. Temperature : 23C 60 Series 25°
70 Series 3.5°
85 Series 2.5°

153




R ﬁ Test Condition

1. Test Speed : 5mm / min

@—@ 2. Temperature : 23C

Ny 7

&
Coated Pipe Stainless Steel Pipe
Classification
@28 x10.7 @28 x1t1.0 @28 xt0.7 @28 xt1.2
Direction : X More than 80kg More than 80kg More than 80kg More than 80kg
Direction : Y More than 80kg More than 80kg More than 80kg More than 80kg

DETERMINING STANDARD PIPE LENGTH
80

30, 50
"y iy
il = | = | - .
Bl st Metal Joint
B Extra Measurement L Case of @28mm
I
(1) 1000mm Center Measurement (L)
= Pipe Length Inside Joint (35 2
L = 1000(Center width of rack) 70mm Ipe Length Inside Joint (35mm x 2
-2mm Extra Measurement (2mm~5mm)
0=1000-(70+2)=928(mm) 928mm Pipe Length (0)
64
30, 34
= =i
'._I U_ Plastic Joint
|
i = Case of @28mm
|20
(1) 1000mm Center Measurement (L)
-40mm Pipe Length Inside Joint (20mm x 2)
L = 1000(Center Width
e { ) 1 -2mm Extra Measurement (2mm~5mm)
0 =1000-(40+2)=958(mm) 958mm Pipe Length ()

154

FOR LCA

ST1dINVXT



N
O
<
o
O
=
=
—
(@))]
o
O
L

- : 'ﬁ
: ‘I,. L

- =
= = C
=P =

b An
B -]

FOR SLIDING RACK




FOR SLIDING RACK FOR CART




FOR CART FOR CART




FOR CART FOR IMPROVEMENT

162 163




FOR IMPROVEMENT OF LOGISTIC CENTER

Miurr!;tln

164 165




il

OTHERS

OTHERS

167

166



([F

ADVANCED
MECHATRONICS
SOLUTIONS, INC

AUTOMATION, SMT & LEAN MANUFACTURING

www.ams-fa.com Q

|

AMS, INC. Advanced Mechatronics Solutions, Inc.
10030 Via de la Amistad, San Diego, CA 92154 T:+1(619) 661-5985 F:+1(619) 661-5995 E:ams@ams-fa.com

AMS do BRASIL AMS do Brasil Automagcéao Industrial Ltda
Rua Laerte de Paiva, 344, Bairro Macuco, Valinhos—SP-CEP 13279.451 T:+55(19) 2511-4943

AMS MEXICO AMS Factory Automation de Mexico SA de CV
Av. Hercules 301B - 17, Poligono Empresarial Sta. Rosa Jduregui, Querétaro, Qro. C.P. 76220 T : +52 (442) 312-0920
Carr. Laredo Km 16.5, Parque Industrial del Norte Col. Moises Saenz, Apodaca, N.L. C.P. 66613 T : +52 (818) 385-1341



